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1. &5?< >E6>5=<O 4<EF<??<=O 
2. �5EF> 4<EF<??<=O 6 EFDG>FGD5 ���� 
3. �?4=<DG5<O5 D57G?LF4FO >5GG5=<O ?> 4<EF<??<=5 
4. �5N5< 4<EF<??<=O < 6<4O GG55=>= D45>FO 
5. %>45D64=<5 < EFDG>FGD4 4<EF<??<=O 
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1. &��� �%�����/ ��%&�����/  
&5?< GG55=>= 4<EF<??<=O «�56>G?LFGD=O5 >><<G=<>4F<< =4 <=>EFD4==>< O7O>5» - >5G-

G5=<5 ?D4>F<G5E>><G 6?445=<N 45?>6O< 4=7?<=E><< O7O>><, ?>76>?ONM<< >5GG4NM<<EO MD-
D5>F<6=> >EGM5EF6?OFL ?D>D5EE<>=4?L=GN 45OF5?L=>EFL, D45>F4FL E 74DG556=O<< 4>>G<5=F4<<, 
65EF< 45?>6GN ?5D5?<E>G. 

 
2. ��%&� ��%&�����/ � %&$'�&'$� ����  
�<EF<??<=4 �.1.�.2 «�56>G?LFGD=O5 >><<G=<>4F<< =4 <=>EFD4==>< O7O>5» >F=>E<FEO > 

�?>>G 1 �<EF<??<=O (<>4G?<) �5O74F5?L=4O G4EFL ?> =4?D46?5=<N ?>47>F>6>< 43.03.01 %5D6<E 
(�5=546<5=F, <4D>5F<=7 < 4<74== 6 E5D6<E5). 

&D55>64=<O > 6E>4=O< 7=4=<O< < G<5=<O< >5GG4NM57>EO, =5>5E>4<<O5 ?D< >E6>5=<< 44=-
=>= 4<EF<??<=O:  

- 3 D>D<<D>64=<5 >><<G=<>4F<6=>= < <56>G?LFGD=>= >><?5F5=F<=, D476<F<5 <=F5??5>FG-
4?L=OE G<5=<= < E?>E>5=>EF5= D45>FO E 4GF5=F<G=O< <=>O7OG=O< <4F5D<4?><; 

- G<5=<5 4<DD5D5=F<D>64=<O ?5>E<>< ?> ED5D4< ?D<<5=5=<O (D>D<4?L=4O, =5D>D<4?L=4O, 
F5D<<=>?>7<G5E>4O < F.4.); 

- 6?445=<5 7D4<<4F<G5E><<< =46O>4<<, >55E?5G<64NM<<< >><<G=<>4F<N  557 <E>465=<O 
E<OE?4 ?D< ?<EL<5==>< < GEF=>< >5M5=<< >5M57> E4D4>F5D4 =4 DGEE>>< < 4=7?<=E>>< O7O>4E; 

- G<5=<O < ?D4>F<G5E><5 =46O>< 4?O GE?5L=>= ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 6 >5?4EF< 
E>F<>>G?LFGD=>7> E5D6<E4; 

- G<5=<5 65EF< GE?5L=O=  4<4?>7 6 D4<>4E ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 
 

�D54L5EF6GNM<5 4<EF<??<=O  
(>GDEO, <>4G?<, ?D4>F<><) 

�>E?54GNM<5 4<EF<??<=O  
(>GDEO, <>4G?<, ?D4>F<><) 

�=>EFD4==O= O7O> �=>EFD4==O= O7O> 45?>6>7> >5M5=<O (6F>D>=) 
�=>EFD4==O= O7O> 6 ?D>D5EE<>=4?L=>= 45O-
F5?L=>EF< (6F>D>=) 
�==>64F<< 6 E>F<>>G?LFGD=>< E5D6<E5 

 
3. �����$'��/� $��'�,&�&/ ��''���/ �� ��%&������ 

�>4 < =4<<5=>64=<5 >><-
?5F5=F<< 

�>4 < <=4<>4F>D (<=4<>4F>DO) 
4>EF<65=<O >><?5F5=F<< 

$57G?LF4FO >5GG5=<O  

'�-4 %?>E>55= >EGM5EF6-
?OFL 45?>6GN >><<G=<>4-
F<N 6 GEF=>= < ?<EL<5=-
=>= D>D<4E =4 7>EG44DEF-
65==>< O7O>5 $>EE<=E>>= 
$545D4F<< < <=>EFD4=-
=><(OE) O7O>5(4E) 

'�-4.2 �54UF >5<5= 45?>6>= 
<=D>D<4F<5= 6 GEF=>= < ?<EL-
<5==>= D>D<4E =5 <5=55 G5< =4 
>4=>< <=>EFD4==>< O7O>5 

�=45F =>D<O < ?D46<?4 <=>EFD4=-
=>7> O7O>4 
'<55F >><<G=<F<D>64FL 6 GEF=>= 
< ?<EL<5==>= D>D<4E =4 <=>-
EFD4==>< O7O>5 
�?4455F =46O>4<< >5<5=4 45?>-
6>= 
 <=D>D<4F<5= 6 GEF=>= < ?<EL-
<5==>= D>D<4E =4 <=>EFD4==>< 
O7O>5 
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4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 
�5M4O FDG4>5<>>EFL 4<EF<??<=O E>EF46?O5F 13 74G5F=OE 54<=<F, 468 4>445<<G5E><E G4E4. 

�G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO 
�E57> 
G4E>6 

&D<<5EFDO 
3 4 5 6 

�>=F4>F=4O D45>F4 (6E57>) 126,5 40 30 30 24 

6 F>< G<E?5:      
1) 74=OF<O ?5>F<>==>7> F<?4 (��)      

<7 =<E      
3 ?5>F<<      

2) 74=OF<O E5<<=4DE>>7> F<?4 (��) 124 40 30 30 24 
<7 =<E      

3 E5<<=4DO (%)      
3 ?D4>F<G5E><5 74=OF<O (�$) 124 40 30 30 24 
3 ?45>D4F>D=O5 D45>FO (�$)      
3) 7DG??>6O5 >>=EG?LF4F<< 2    2 
4) <=4<6<4G4?L=4O D45>F4      

5) ?D><56GF>G=4O 4FF5EF4F<O 0,5    0,5 
%4<>EF>OF5?L=4O D45>F4 (6E57>) 

(%$) 
341,5 68 78 78 91 

6 F>< G<E?5:      
�GDE>6>= ?D>5>F (D45>F4)      

$4EG5F=>-7D4D<G5E><5 D45>FO      
�>=FD>?L=4O D45>F4      

$5D5D4F      
%4<>?>47>F>6>4 (E4<>EF>OF5?L=>5 

<7GG5=<5 D4745?>6, ?D>D45>F>4 < ?>-
6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < 

<4F5D<4?4 GG55=<>>6 < GG55=OE ?>E>-
5<=, ?>47>F>6>4 > ?45>D4F>D=O< < 

?D4>F<G5E><< 74=OF<O<, >>??>>6<G-
<4< < F.4.) 

315 68 78 78 91 

�>47>F>6>4 > 4FF5EF4F<< 26,5    26,5 

�5M<= >5N5<, G4E 468 108 108 108 144 

$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74G5F 74GUF 74G5F M>74<5= 

 

�4>G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO 
�E57> G4-

E>6 
&D<<5EFDO 

3 4 5 6 

�>=F4>F=4O D45>F4 (6E57>) 29,4 4 6 8 10 

6 F>< G<E?5:      
1) 74=OF<O ?5>F<>==>7> F<?4 (��)      

<7 =<E      
3 ?5>F<<      

2) 74=OF<O E5<<=4DE>>7> F<?4 (��) 28 4 6 8 10 
<7 =<E      
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3 E5<<=4DO (%)      
3 ?D4>F<G5E><5 74=OF<O (�$) 28 4 6 8 10 
3 ?45>D4F>D=O5 D45>FO (�$)      
3) 7DG??>6O5 >>=EG?LF4F<<      
4) <=4<6<4G4?L=4O D45>F4      

5) ?D><56GF>G=4O 4FF5EF4F<O 1,4 0,3 0,3 0,3 0,5 
%4<>EF>OF5?L=4O D45>F4 (6E57>) 

(%$) 
438,6 100 98 96 125 

6 F>< G<E?5:      
�GDE>6>= ?D>5>F (D45>F4)      

$4EG5F=>-7D4D<G5E><5 D45>FO      
�>=FD>?L=4O D45>F4      

$5D5D4F      

%4<>?>47>F>6>4 (E4<>EF>OF5?L=>5 
<7GG5=<5 D4745?>6, ?D>D45>F>4 < ?>-
6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < 

<4F5D<4?4 GG55=<>>6 < GG55=OE ?>E>-
5<=, ?>47>F>6>4 > ?45>D4F>D=O< < 

?D4>F<G5E><< 74=OF<O<, >>??>>6<G-
<4< < F.4.) 

419 100 98 96 125 

�>47>F>6>4 > 4FF5EF4F<< 19,6 3,7 3,7 3,7 8,5 

�5M<= >5N5<, G4E 468 108 108 108 144 

$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74GUF 74GUF 74G5F M>74<5= 

 

5. %���$����� � %&$'�&'$� ��%&�����/ 
 
5.1. %>45D64=<5 4<EF<??<=O 
 

7 D47-
45?4 

(F5<O) 

�4<<5=>64=<5 D4745?4 
(F5<O) 

%>45D64=<5 D4745?4 (F5<O) 

1 �5?>6>5 ?<EL<> 
 

�4D5E, 44F4, >5D4M5=<5, >>>=G4=<5, ?>4?<EL, ?D<?>65=<5, 
>>?<O. �<4O E?5F<4?L=OE ?>GF>6OE >F?D46?5=<=. 
&5?L ?<EL<4. &5>EF ?<EL<4. �5M<5 ?D46<?4. �D54?>65=<O 
?D>4G>F>6, GE?G7 >><?4=<<. �D54EF46?5=<5 >><?4=<<. �?4= 
?<EL<4. �F65F =4 ?<EL<>-?D54?>65=<5.  
�4?D>E, FD55>64=<5. �?4= ?<EL<4. �F65F =4 74?D>E, FD55>64-
=<5. 
�4>47. �?4= ?<EL<4. �F65F-?>4F65D645=<5. �F>47 >F 6O?>?-
=5=<O 74>474 
�4?>54.  �?4= ?<EL<4. �<EL<>-=4?><<=4=<5. �F65F =4 64?>-
5G. 
&5?L <5<>D4=4G<4. �4D<4=FO ?>EFD>5=<O <5<>D4=4G<4. 
�D>D<?5=<5 
$4>EO, F5?57D4<<O. �D<=OFO5 E>>D4M5=<O. �D<7?4L5=<5. 
�F65F. �D54?>65=<5. �FG5F. 
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�5?>64O ?5D5?<E>4 e-mail. �5M<5 ?D46<?4. �5D4M5=<5. �>4-
?<EL. %>45D64=<5. �D<?>65==O= D4=?. -?5>FD>==O5 E>>5-
M5=<O, >F?D46?O5<O5 E ?><>MLN E>F>6OE F5?5D>=>6. 
�<G=O5 ?<EL<4. �5M<5 ?D46<?4. �4D<4=FO >5D4M5=<O. �4D<-
4=FO ?>4?<E<. 
�>D<O < ?D46<?4 <=>EFD4==>7> O7O>4: 6O?>?=5=<5 7D4<<4-
F<G5E><E G?D46=5=<=. 
'<5=<5 >><<G=<F<D>64FL 6 GEF=>= < ?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5: 
?>47>F>6>4 4<4?>7<G5E><E < <>=>?>7<G5E><E 6OE>47O64=<=. 
�D>E?GL<64=<5 E?>6, DD47, F5>EF>6 E F5?LN D>D<<D>64=<O 
E?>E>5=>EF< <E?>?L7>64=<O 65D54?L=OE < =565D54?L=OE 
ED54EF6 4?O D>D<<D>64=<O =46O>>6 >5<5=4 45?>6>=  <56-
>G?LFGD=>= <=D>D<4F<5= 6 GEF=>= < ?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5 
 

2 �D<5< =4 D45>FG.  
 

$57N<5. �?4= D57N<5. �O?<E>4 <7 FDG4>6>= >=<7<. �<4O 
45OF5?L=>EF<. �5D47>64=<5. $5>><5=44F<<. 
%>?D>6>4<F5?L=>5 ?<EL<>. %>?D>6>4<F5?L=>5 ?<EL<> > D5-
7N<5. %>?D>6>4<F5?L=>5 ?<EL<> > >>=FD4>FG. �<EL<> E G65-
4><?5=<5< > ?D5>D4M5=<< 45=EF6<O >>=FD4>F4. �<EL<> E 
5?47>44D=>EFLN. �<EL<> E <76<=5=<5<. 
�>D<O < ?D46<?4 <=>EFD4==>7> O7O>4: 6O?>?=5=<5 7D4<<4-
F<G5E><E G?D46=5=<=. 
'<5=<5 >><<G=<F<D>64FL 6 GEF=>= < ?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5: 
?>47>F>6>4 4<4?>7<G5E><E < <>=>?>7<G5E><E 6OE>47O64=<=. 
�D>E?GL<64=<5 E?>6, DD47, F5>EF>6 E F5?LN D>D<<D>64=<O 
E?>E>5=>EF< <E?>?L7>64=<O 65D54?L=OE < =565D54?L=OE 
ED54EF6 4?O D>D<<D>64=<O =46O>>6 >5<5=4 45?>6>=  <56-
>G?LFGD=>= <=D>D<4F<5= 6 GEF=>= < ?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5 

3 �5?>6O5 ?5D57>6>DO 
 

�<4?>7/E>55E54>64=<5 ?D< ?D<5<5 =4 D45>FG; - =4?<E4=<5  
D57N<5, F57<E>6 ?<EL<5==>7> 4>>?444; <>=>?>7-
E>>5M5=<5/4>>?44; 6OEFG??5=<5 =4 >DG7?>< EF>?5 ?D>5?5<-
=>= 7DG??O; - 4<4?>7 -55E544 ?> >5>7=4G5==>= ?D>5?5<4F<>5; 
- 45?>64O 55E544/45?>64O <7D4; - >5EG645=<5 ?D>5?5<=OE 45-
?>6OE E<FG4F<= 
�>D<O < ?D46<?4 <=>EFD4==>7> O7O>4: 6O?>?=5=<5 7D4<<4-
F<G5E><E G?D46=5=<=. 
'<5=<5 >><<G=<F<D>64FL 6 GEF=>= < ?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5: 
?>47>F>6>4 4<4?>7<G5E><E < <>=>?>7<G5E><E 6OE>47O64=<=. 
�D>E?GL<64=<5 E?>6, DD47, F5>EF>6 E F5?LN D>D<<D>64=<O 
E?>E>5=>EF< <E?>?L7>64=<O 65D54?L=OE < =565D54?L=OE 
ED54EF6 4?O D>D<<D>64=<O =46O>>6 >5<5=4 45?>6>=  <56-
>G?LFGD=>= <=D>D<4F<5= 6 GEF=>= < ?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5 
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5.2. %FDG>FGD4 4<EF<??<=O  

�G=4O D>D<4 >5GG5=<O 
 

7 
D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

�E57> �� % �$ �$ & %$ 

1 �D>D<?5=<5 EF4=44DF=>7> 
?<EL<4. �<4O 45?>6OE ?<E5<  

146   26   118 

2 �D<5< =4 D45>FG. �><E> D45>FO 137   22   107 

3 �545=<5 45?>6OE ?5D57>6>D>6 156   40   126 

 �FF5EF4F<O 27       

 �>=EG?LF4F<O 2       

 �5M<= >5N5< 468      351 

 
�4>G=4O D>D<4 >5GG5=<O 

 
7 

D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

�E57> �� % �$ �$ & %$ 

1 �D>D<?5=<5 EF4=44DF=>7> 
?<EL<4. �<4O 45?>6OE ?<E5<  

147   10   137 

2 �D<5< =4 D45>FG. �><E> D45>FO 138   8   130 

3 �545=<5 45?>6OE ?5D57>6>D>6 162   12   150 

 �FF5EF4F<O 21       

 �5M<= >5N5< 468   30   417 

 
5.3. �4=OF<O E5<<=4DE>>7> F<?4 
        �G=4O, 74>G=4O D>D<O >5GG5=<O  
 

7 
?/? 

7  
D47-
45?4 
(F5-
<O) 

�<4 74=O-
F<O 

�4<<5=>64=<5 �>?<G5EF6> G4E>6 

�$� �$� 

1 1 �$ Writing business letters: types of business 
letters, presentation and layout, style. 

8 2 

2 1 �$ Writing business letters: memos, congratula-
tion, condolence. 

6 4 

3 1 �$ Writing business letters: request for an ap-
pointment, invitation, making a complaint. 

12 4 

4 2 �$ Writing business letters: reference and tes-
timonial. 

10 4 
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5 2 �$ Writing business letters: information in-
quiry, reply to information inquiry 

12 4 

6 3 �$ Writing business letters: CV and letter of 
application, resignation, advertising in a 
newspaper. 

40 12 

  

5.4. �GDE>6>= ?D>5>F (>GDE>64O D45>F4, D4EG5F=>-7D4D<G5E>4O D45>F4, D5D5D4F, >>=-
FD>?L=4O D45>F4) - =5 ?D54GE<>FD5=> 

 
5.5. %4<>EF>OF5?L=4O D45>F4 

7 
?/? 

7  
D4745?4 
(F5<O) 

�<4O E4<>EF>OF5?L=>= D45>FO 
�>?<G5EF6> G4E>6 

�$� �$� 

1 1 Writing business letters: types of business letters, presentation 
and layout, style. 

40 47 

2 1 Writing business letters: memos, congratulation, condolence. 32 40 
3 1 Writing business letters: request for an appointment, invitation, 

making a complaint. 
46 50 

4 2 Writing business letters: reference and testimonial. 52 70 
5 2 Writing business letters: information inquiry, reply to informa-

tion inquiry 
55 60 

6 3 Writing business letters: CV and letter of application, resigna-
tion, advertising in a newspaper. 

126 150 

7  �FF5EF4F<O 27 21 
 

6. ��$�����&��,�/� &�%�������  
�D< >5GG5=<< <=>EFD4==><G O7O>G <E?>?L7GNFEO E?54GNM<5 >5D47>64F5?L=O5 F5E=>?>7<<: 
- &5E=>?>7<O >><<G=<>4F<6=>7> >5GG5=<O 3 =4?D46?5=4 =4 D>D<<D>64=<5 >><<G=<>4F<6-

=>= >><?5F5=F=>EF< EFG45=F>6, >>F>D4O O6?O5FEO 547>6>=, =5>5E>4<<>= 4?O 444?F4F<< > E>6D5-
<5==O< GE?>6<O< <56>G?LFGD=>= >><<G=<>4F<<.  

- &5E=>?>7<O D47=>GD>6=56>7> (4<DD5D5=F<D>64==>7>) >5GG5=<O 3 ?D54?>?4745F >EGM5EF6-
?5=<5 ?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F>6 E GGUF>< <E <=4<6<4G4?L=OE E?>E>5=>EF5=, 6>7-
<>6=>EF5= < <=F5D5E>6, ?>>MDOO <E D54?<7>6O64FL E6>= F6>DG5E><= ?>F5=F<4?. %>744=<5 < <E-
?>?L7>64=<5 4<47=>EF<G5E><E F5EF>6 O6?O5FEO =5>FN5<?5<>= G4EFLN 44==>= F5E=>?>7<<.  

- &5E=>?>7<O <>4G?L=>7> >5GG5=<O 3 ?D54GE<4FD<645F 45?5=<5 E>45D64=<O 4<EF<??<=O =4 
4>EF4F>G=> 46F>=><=O5 D4745?O (<>4G?<), <=F57D<D>64==O5 6 >5M<= >GDE.  

- &5E=>?>7<O <=4<6<4G4?<74F<< >5GG5=<O 3 ?><>745F D54?<7>6O64FL ?<G=>EF=>-
>D<5=F<D>64==O= ?>4E>4, GG<FO64O <=4<6<4G4?L=O5 >E>55==>EF< < ?>FD55=>EF< GG4M<EEO.  

- &5E=>?>7<O F5EF<D>64=<O 3 <E?>?L7G5FEO 4?O >>=FD>?O GD>6=O GE6>5=<O ?5>E<G5E><E, 
7D4<<4F<G5E><E 7=4=<= 6 D4<>4E <>4G?O =4 >?D545?U==>< MF4?5 >5GG5=<O. �EGM5EF6?5=<5 >>=-
FD>?O E <E?>?L7>64=<5< F5E=>?>7<< F5EF<D>64=<O E>>F65FEF6G5F FD55>64=<O< 6E5E <564G=4D>4-
=OE M>74<5=>6 ?> <=>EFD4==><G O7O>G. �D><5 F>7>, 44==4O F5E=>?>7<O ?>76>?O5F ?D5?>4464F5?N 
6OO6<FL < E<EF5<4F<7<D>64FL 4E?5>FO, FD55GNM<5 4>?>?=<F5?L=>= ?D>D45>F><.  

- �D>5>F=4O F5E=>?>7<O 3 >D<5=F<D>64=4 =4 <>45?<D>64=<5 E>F<4?L=>7> 674<<>45=EF6<O 
GG4M<EEO E F5?LN D5L5=<O 7444G<, >>F>D4O >?D545?O5FEO 6 D4<>4E ?D>D5EE<>=4?L=>= ?>47>F>6-
>< EFG45=F>6, 6O45?OO FG <?< <=GN ?D54<5F=GN >5?4EFL. �E?>?L7>64=<5 ?D>5>F=>= F5E=>?>7<< 
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E?>E>5EF6G5F D54?<74F<< <564<EF<??<=4D=>7> E4D4>F5D4 >><?5F5=F<=, D>D<<DGNM<EEO 6 ?D>-
F5EE5 >5GG5=<O 4=7?<=E>><G O7O>G.  

- &5E=>?>7<O >5GG5=<O 6 E>FDG4=<G5EF65 3 D54?<7G5F <45N 674<<=>7> >5GG5=<O, >EGM5EF6-
?OO >4> <=4<6<4G4?L=GN, F4> < >>??5>F<6=GN >F65FEF65==>EFL 74 D5L5=<5 GG55=OE 7444G.  

- �7D>64O F5E=>?>7<O 3 ?>76>?O5F D476<64FL =46O>< D4EE<>FD5=<O DO44 6>7<>6=OE E?>E>-
5>6 D5L5=<O ?D>5?5<, 4>F<6<7<DGO <OL?5=<5 EFG45=F>6 < D4E>DO64O ?<G=>EF=O= ?>F5=F<4? >4-
64>7> GG4M57>EO.  

- &5E=>?>7<O D476<F<O >D<F<G5E>>7> <OL?5=<O 3 E?>E>5EF6G5F D>D<<D>64=<N D47=>EF>-
D>==5= ?<G=>EF<, E?>E>5=>= >D<F<G5E>< >F=>E<FLEO > <=D>D<4F<<, G<5=<N >F5<D4FL <=D>D<4-
F<N 4?O D5L5=<O ?>EF46?5==>= 7444G<.  

- �=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<< (��&) - D4EL<DONF D4<>< >5D47>64F5?L-
=>7> ?D>F5EE4, ?>6OL4O 57> ?D4>F<G5E>GN =4?D46?5==>EFL, E?>E>5EF6GNF <=F5=E<D<>4F<< E4-
<>EF>OF5?L=>= D45>FO GG4M<EEO < ?>6OL5=<N ?>7=464F5?L=>= 4>F<6=>EF<. � D4<>4E ��& 6O45-
?ONFEO 2 6<44 F5E=>?>7<=:  

- &5E=>?>7<O <E?>?L7>64=<O >><?LNF5D=OE ?D>7D4<< 3 ?>76>?O5F MDD5>F<6=> 4>?>?=<FL 
?D>F5EE >5GG5=<O O7O>G =4 6E5E GD>6=OE. �G?LF<<54<==O5 ?D>7D4<<O ?D54=47=4G5=O >4> 4?O 
4G4<F>D=>=, F4> < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < =4?D46?5=O =4 D476<F<5 7D4<<4F<G5E><E 
< ?5>E<G5E><E =46O>>6.  

- �=F5D=5F-F5E=>?>7<< 3 ?D54>EF46?ONF L<D>><5 6>7<>6=>EF< 4?O ?><E>4 <=D>D<4F<<, 
D47D45>F>< <564G=4D>4=OE =4GG=OE ?D>5>F>6, 6545=<O =4GG=OE <EE?54>64=<=. 

 
�=D>D<4F<>==O5 F5E=>?>7<<, <E?>?L7G5<O5 ?D< >EGM5EF6?5=<< >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5: 
3 E5>D, ED4=5=<5, E<EF5<4F<74F<O < 6O44G4 GG55=>= < =4GG=>= <=D>D<4F<<; 
3 >5D45>F>4 F5>EF>6>=, 7D4D<G5E>>= < M<?<D<G5E>>= <=D>D<4F<<; 
3 ?>47>F>6>4, >>=EFDG<D>64=<5 < ?D575=F4F<O <F>7>6 <EE?54>64F5?LE>>= < 4=4?<F<G5E>>= 

45OF5?L=>EF<; 
3 E4<>EF>OF5?L=O= ?><E> 4>?>?=<F5?L=>7> GG55=>7> < =4GG=>7> <4F5D<4?4, E <E?>?L7>64-

=<5< ?><E>>6OE E<EF5< < E4=F>6 E5F< �=F5D=5F, M?5>FD>==OE M=F<>?>?54<= < 547 44==OE; 
3 <E?>?L7>64=<5 M?5>FD>==>= ?>GFO ?D5?>4464F5?5= < >5GG4NM<EEO 4?O D4EEO?><, ?5D5-

?<E>< < >5EG645=<O 6>7=<>L<E GG55=OE ?D>5?5<. 
 
�=F5D4>F<6=O5 < 4>F<6=O5 >5D47>64F5?L=O5 F5E=>?>7<< 
 

7 D4745?4 
(F5<O) 

�<4 74=OF<O 
(��, �$, %, �$) 

�E?>?L7G5<O5 <=F5D4>F<6=O5 < 4>F<6=O5 
>5D47>64F5?L=O5 F5E=>?>7<< 

�>?<G5EF6>  
G4E>6 

�$� �$� 
1 �$ �5E544 10 2 
2 �$ $>?564O <7D4/4<4?>7  10 4 
3 �$ $>?564O <7D4. $475>D >>=>D5F=OE E<FG4-

F<=. 
12 6 

 
7. $��� �&���'�/% %$��%&� ��/ &��'-��� ���&$��/ 

'%�������%&�, �$����'&�'��� �&&�%&�&��  
 

2.��&���'�%��� ��&�$���/, ��$����/.-�� �$�&��'$/ 
�&�������/ 
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2.1.�5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E 
F5>GM57> >>=FD>?O GE?5645<>EF< 

 
�D>F54GD4 >F5=<64=<O ?D><EE>4<F E <E?>?L7>64=<5< <5F>44 F5EF<D>64=<O, >F5=>< GEF=>7> 

< ?<EL<5==>7> >?D>E4, D>?56>= <7DO. 
�E5 6<4O F5>GM57> >>=FD>?O >EGM5EF6?ONFEO =4 74=OF<OE E5<<=4DE>>7> F<?4.  

 
�5F>4<G5E>>5 >?<E4=<5 ?>47>F>6>< < ?D>6545=<O F5EF<D>64=<O 
�5 <5=55, G5< 74 =545?N 4> F5EF<D>64=<O, ?D5?>4464F5?L >?D545?O5F >5GG4NM<<EO <E-

E>4=O5 44==O5 4?O ?>47>F>6>< > F5EF<D>64=<N: D4745?O (F5<O, 6>?D>EO), ?> >>F>DO< 5G4GF 74-
44=<O 6 F5EF>6>= D>D<5, ?<F5D4FGDG < <EF>G=<>< (E F>G=O< G>474=<5< D4745?>6, F5<, EF4F5=) 4?O 
?>47>F>6><.  

&5EFO 6O?>?=ONFEO 6> 6D5<O 4G4<F>D=OE 74=OF<= (?D4>F<G5E><E).  
�>?<G5EF6> 6>?D>E>6 6 F5EF>6>< 7444=<< >?D545?O5FEO ?D5?>4464F5?5<. 
�4 6O?>?=5=<5 F5EF>6 >F6>4<FEO 0,5-1 4>445<<G5E><= G4E.  
�=4<6<4G4?L=>5 F5EF>6>5 7444=<5 6O445FEO >5GG4NM5<GEO =4 5G<46=>< =>E<F5?5. &4>65 

F5EF<D>64=<5 <>65F ?D>6>4<FLEO E <E?>?L7>64=<5< >><?LNF5D=OE ED54EF6 < ?D>7D4<< 6 E?5F<-
4?L=> >5>DG4>64==OE ?><5M5=<OE. 

�D< ?D>E>645=<< F5EF<D>64=<O ?>?L7>64FLEO >>=E?5>F4<< ?5>F<=, GG55=<>4<< =5 D47D5-
L5=>. 

�D<<5DO F5EF>6OE 7444=<=, 4 F4>65 >D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?.3. $>=44 
>F5=>G=OE ED54EF6. 

�5F>4<G5E>>5 >?<E4=<5 ?>47>F>6>< < ?D>6545=<O GEF=>7> < ?<EL<5==>7> >?D>E4 
'EF=O5 < ?<EL<5==O5 >?D>EO ?D>6>4OFEO ?D5?>4464F5?5< 6> 6D5<O 4G4<F>D=OE 74=OF<= 

(?5>F<>==OE <?< ?D4>F<G5E><E).  
�E=>6=O5 6>?D>EO 4?O GEF=>7> < ?<EL<5==>7> >?D>E4 4>6>4OFEO 4> E6545=<O EFG45=F>6 =4 

?D54O4GM5< 74=OF<<. 
�>?<G5EF6> 6>?D>E>6 >?D545?O5FEO ?D5?>4464F5?5<. 
�D5<O ?D>6545=<O GEF=>7> < ?<EL<5==>7> >?D>E4 >F 10 <<=GF 4> 1 4>445<<G5E>>7> G4E4. 
�5D5G5=L 6>?D>E>6 4?O ?D>6545=<O GEF=OE < ?<EL<5==OE >?D>E>6, 4 F4>65 >D<F5D<< < 

L>4?4 >F5=>< ?D<6545=O 6 ?.3. $>=44 >F5=>G=OE ED54EF6. 
�5F>4<G5E>>5 >?<E4=<5 ?>47>F>6>< < ?D>6545=<O ?D4>F<G5E><E 7444=<= 
�D5?>4464F5?L 74D4=55 ?>47>F46?<645F 65EL <=D>D<4F<>==O= >><??5>E, 7>F>6<F 5?4=>< E 

7444=<O<<. �D5<O D5L5=<O 7444=<O G>474=> 6 E4<>< 5?4=>5. %FG45=FO E4<>EF>OF5?L=> <7GG4NF < 
?D>D454FO64NF F5>D5F<G5E><= < E?D46>G=O= <4F5D<4? ?> F5<5. �444=<O =4 GE<>FD5=<5 ?D5?>44-
64F5?O <>7GF 5OFL ?D54?>65=O 4?O D5L5=<O >4> <=4<6<4G4?L=>, F4> < ?>47DG??5 EFG45=F>6 (4> 3 
G5?>65>). 

�5F>4<G5E>>5 >?<E4=<5 ?>47>F>6>< < ?D>6545=<O D>?56>= <7DO 
�D5?>4464F5?L ?D54?4745F =4 74=OF<OE E5<<=4DE>>7> F<?4 D47O7D4FL <>45?L ?>6545=<O 6 

F>= <?< <=>= E<FG4F<<. %FG45=FO E4<>EF>OF5?L=> <7GG4NF < ?D>D454FO64NF F5>D5F<G5E><= <4-
F5D<4? ?> F5<5. $>?< 4?O GG4EF<O 6 <7D5 ?D54?474NFEO 46G< < 5>?55 EFG45=F4< (4> 3 G5?>65>). 

�5D5G5=L F5< / EN65F>6 4?O D>?56>= <7DO, 4 F4>65 >D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 
?.3. $>=44 >F5=>G=OE ED54EF6. 

 
2.2. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E ?D>-

<56GF>G=>= 4FF5EF4F<< 
�D><56GF>G=4O 4FF5EF4F<O - M>74<5= 

->74<5= 3 MF> D>D<4 ?D><56GF>G=>= 4FF5EF4F<< ?> 4<EF<??<=5, 7444G5= >>F>D>= O6?O5F-
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EO >><??5>E=4O >F5=>4 GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5. 
�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: E>55E54>64=<5 

?D5?>4464F5?O E> EFG45=F4<< ?> 6>?D>EG M>74<5=4F<>==>7> 5<?5F4. 
�<?5F > M>74<5=G E>45D6<F 2 6>?D>E4 <7 ?5D5G=O 6>?D>E>6, ?D<6545==OE 6 ?. 3.6. 
�>?D>EO > M>74<5=G 4>6>4OFEO 4> E6545=<O EFG45=F>6 74D4=55.  
�D< ?>47>F>6>5 > >F65FG ?>?L7>64=<5 GG55=<>4<<, GG55=>-<5F>4<G5E><<< ?>E>5<O<<, 

ED54EF64<< E6O7< < M?5>FD>==O<< D5EGDE4<< =4 ?N5OE =>E<F5?OE 74?D5M5=>. 
�D5<O =4 ?>47>F>6>G >F65F4 3 4> 30 <<=GF. 
�> <EF5G5=<< 6D5<5=< ?>47>F>6>< >F65F4, EFG45=F >F65G45F =4 6>?D>EO M>74<5=4F<>==>7> 

5<?5F4. �4 >F65F EFG45=F4 ?> >464><G 6>?D>EG 5<?5F4 >F6>4<FEO, >4> ?D46<?>, 3-5 <<=GF. 
�>E?5 >F65F4 EFG45=F4 ?D5?>4464F5?L <>65F 7444FL 4>?>?=<F5?L=O5 (GF>G=ONM<5) 6>?D>-

EO <?< D5L5=<5 ?D4>F<>>->D<5=F<D>64==OE 7444=<= 6 ?D545?4E ?D54<5F=>= >5?4EF< M>74<5=4-
F<>==>7> 7444=<O.  

�>E?5 >>>=G4=<O >F65F4 ?D5?>4464F5?L >5NO6?O5F >5GG4NM5<GEO >F5=>G ?> D57G?LF4F4< 
M>74<5=4, 4 F4>65 6=>E<F MFG >F5=>G 6 M>74<5=4F<>==GN 654><>EFL, 74G5F=GN >=<6>G. 

'D>65=L 7=4=<=, G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «>F?<G=>», 
«E>D>L>», «G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 
 
                    . 3. �&���'�/� %$��%&��, �$�&�$�� � ,���� �&���� 

 
1.1. &<?>6O5 7444=<O 4?O F5>GM57> >>=FD>?O GE?5645<>EF< 

                          3.1.1 �444=<5 =4 4G4<D>64=<5, ?>=<<4=<5 < 7>6>D5=<5 
�D>E?GL4=F5 4<4?>7< < ?5D544=F5 >D4F>>5 E>45D64=<5 D5??<> 
JOHN: I9ve lived in London for thirty years. I work as a lawyer in the City. The best thing about Lon-
don is the international mix. It is very cosmopolitan, and increasingly so. The worst thing is pigeons and 
congestion. The traffic is terrible! Londoners are very open-minded. 

 
ANNA: I9ve lived in London for two weeks. I9m from Moscow in Russia. I am studying English here. 
London is a big and nice city. There are a lot of kind people, I think. The worst thing is that there is too 
much traffic and the air is bad. I don9t know what Londoners are like. I haven9t lived here long enough 
to find out yet. 

 
TOM: I9ve lived in London for two years. I am a security guard. I am from Sweden. There are lots of 
good things about London! Very nice buildings, nice people. Everything! The whole shebang! The 
worst thing? London is very polluted. And sometimes it can be very hectic. I love London. 
 
PRANAS: I have lived in London for about one year. My job is to give information about this Indian 
restaurant to people. The best thing is that London is busy. The other thing is the crazy English girls. 
London is old and interesting. The bad things are too many cars and too many people from different 
countries. To describe London and Londoners in one word is very difficult: huge! 
 
 SARAH: I am an actress and a teacher, darling! I have lived here all my life. The best thing is the mix 
of people, the mix of entertainment, the mix of activities. The worst thing is the trash. Oops, I9ve gone 
American there! Actually, I think Londoners are quite friendly. 
       
GEORGE: I own this stall at an underground station. I am from India. I came here four years ago. Life 
in India is better than in England, because things happen too fast here. You have to work hard here. The 
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best thing is that London is a beautiful city. If I have to sum up London in one word it is <noise=. 
 
MARK: I am a print manager for a print company. I have lived in London for three years. The best thing 
about London is its lost corners and unexplored places. They really make London a living museum. The 
worst thing is the people are quite angry sometimes for no reason. In one word, Londoners are irritated. 
 
RUTH: I am a music teacher. I have lived here for fifteen years. The best thing is the buzz: the atmos-
phere. It is a certain atmosphere you don9t get anywhere else in the world. The worst thing is the traffic 
jams. In one word, Londoners are pretentious. 
 
TONI AND JON: Jon has lived here for a year, but I was born here. I am an actor and he is a graphic 
designer. The best thing is the variety of life and the culture. Whatever you like, whatever you are into, 
there is something there for you. The worst thing is the rain and the obsession with money and status. 
Also the commuting is bad. In one word: Londoners are soulless. 
 
JAN: I have lived here for one year. I am from Poland. I am a freelance artist. The best thing is that you 
are free in London to do whatever you want in life. There are lots of parks and green spaces. The worst 
thing is the awful weather. Londoners are very loyal and make good friends. 
 
LOUISA: I have lived in London for eighty-five years. I am a pensioner now, but in the war I worked as 
a fire-fighter in London and afterwards I was a housewife and secretary. The best thing about London is 
you feel like a Londoner. We are different from the rest of the country. The worst thing is the crime and 
the noise. Some Londoners are nice and some aren9t. 
 
�D<F5D<< >F5=<64=<O 4G4<D>64=<O < ?>=<<4=<O 
«5» 
'G4M<=EO ?>7<G=> EFD><F 4<4?>7<G5E>>5 < <>=>?>7<G5E>>5 6OE>47O64=<5 6 E>>F65FEF6<< E >><-
<G=<>4F<6=>= 7444G5=, ED>D<G?<D>64==>= 6 7444=<<. 
�5>E<G5E><5 54<=<FO < 7D4<<4F<G5E><5 EFDG>FGDO <E?>?L7GNFEO G<5EF=>. 
�L<5>< ?D4>F<G5E>< >FEGFEF6GNF. 
$5GL ?>=OF=4: ?D4>F<G5E>< 6E5 76G>< ?D><7=>EOFEO ?D46<?L=>, E>5?N445FEO ?D46<?L=4O <=F>=4-
F<O. 
�5NU< 6OE>47O64=<O =5 <5=55 10-12 DD47. 
«4» 
'G4M<=EO ?>7<G=> EFD><F 4<4?>7<G5E>>5 < <>=>?>7<G5E>>5 6OE>47O64=<5 6 E>>F65FEF6<< E >><-
<G=<>4F<6=>= 7444G5=, ED>D<G?<D>64==>= 6 7444=<<. 
�5>E<G5E><5 54<=<FO < 7D4<<4F<G5E><5 EFDG>FGDO E>>F65FEF6GNF ?>EF46?5==>= >><<G=<>4F<6-
=>= 7444G5. 
'G4M<=EO 4>?GE>45F >F45?L=O5 ?5>E<G5E><5 <?< 7D4<<4F<G5E><5 >L<5><, >>F>DO5 =5 ?D5?OFEF-
6GNF ?>=<<4=<N 57> D5G<. 
$5GL ?>=OF=4, GG4M<=EO =5 4>?GE>45F D>=5<4F<G5E><E >L<5>>. 
�5NU< 6OE>47O64=<O =5 <5=55 10 DD47. 
«3» 
'G4M<=EO ?>7<G=> EFD><F 4<4?>7<G5E>>5 < <>=>?>7<G5E>>5 6OE>47O64=<5 6 E>>F65FEF6<< E >><-
<G=<>4F<6=>= 7444G5=, ED>D<G?<D>64==>= 6 7444=<<. 
�>: 6OE>47O64=<5 =5 6E5744 ?>7<G=>, <<5NFEO ?>6F>DO. 
�>?GE>4NFEO ?5>E<G5E><5 < 7D4<<4F<G5E><5 >L<5><, >>F>DO5 74FDG4=ONF ?>=<<4=<5. 



 13

$5GL 6 F5?>< ?>=OF=4, GG4M<=EO 6 >E=>6=>< E>5?N445F ?D46<?L=GN <=F>=4F<N. 
�5NU< 6OE>47O64=<O 3 <5=55 8 DD47. 
«2» 
�><<G=<>4F<6=4O 7444G4 =5 6O?>?=5=4. 
�<5NFEO <=>7>G<E?5==O5 ?5>E<G5E><5 < 7D4<<4F<G5E><5 >L<5><, >>F>DO5 74FDG4=ONF ?>=<<4-
=<5. 
�>?LL>5 >>?<G5EF6> D>=5<4F<G5E><E >L<5>>. 
 
�D<F5D<< >F5=>< ?5D544G< =4 DGEE>>< <?< <=>EFD4==>< O7O>5 >E=>6=>7> E>45D64=<O <=>O7OG-
=>7> F5>EF4 >5M5=4GG=>7> E4D4>F5D4 (557 <E?>?L7>64=<O E?>64DO).  
�>D<4F<6=O5 FD55>64=<O: >5N5< F5>EF4 1000 3 1200 ?. 7=.; 6D5<O =4 ?>47>F>6>G 8-10 <<=GF. 
 �D< GEF=>= ?5D544G5 >E=>6=>7> E>45D64=<O <=>O7OG=>7> F5>EF4 >5M5=4GG=>7> E4D4>F5D4 >F5-
=<64NFEO: 
- ?>?=>F4 < F>G=>EFL ?5D544G< >E=>6=>= <=D>D<4F<< (0-20 54??>6);  
- 7=4=<5 =5=FD4?L=>= ?5>E<>< (0-20 54??>6);  
- 7=4=<5 F5D<<=>6 (0-10 54??>6); 
- E>F<>>G?LFGD=O5 7=4=<O, =5>5E>4<<O5 4?O ?>=<<4=<O F5>EF4 (0-10 54??>6);  
- E6O7=>EFL ?5D544G< E>45D64=<O (0-20 54??>6); 
- ?>7<G=>EFL ?>EFD>5=<O E>>5M5=<O (D4E>DOF<5 ?D<G<==>-E?54EF65==OE E6O75= (0-20 54??>6)).  
%>>F65FEF6<5 >>?<G5EF64 =45D4==OE 54??>6 >F5=>5: 
100 54??>6 3 85 54??>6 = >F?<G=>  
84 54??>6 3 75 54??>6 = E>D>L>  
74 54??4 3 50 54??>6 = G4>6?5F6>D<F5?L=>  
<5=55 50 54??>6 = =5G4>6?5F6>D<F5?L=> 
 

�D<F5D<< >F5=<64=<O 7>6>D5=<O 
 «5» 
'G4M<5EO ?>?=>EFLN ?>=O?< E>45D64=<5 F5>EF4 =4 E?GE < 6O?>?=<?< 6E5 7444=<O ?> F5>EFG. 
�>?=>5 ?>=<<4=<5 (90-100%) <=>O7OG=>7> 6OE>47O64=<O. �4>E<<4?L=> 4>?GEF<<>5 >>?<G5EF6> 
E<OE?>6OE >L<5>> (<E>465=<5, >?GM5=<5, 4>546?5=<5 <=D>D<4F<<) ?D< >F65F5 =4 6>?D>EO > 
?D>E?GL4==><G F5>EFG 3 1. �4>E<<4?L=>5 >>?<G5EF6> 7D4<<4F<G5E><E >L<5>> 3 1. 
«4» 
'G4M<5EO ?>=O?< E>45D64=<< F5>EF4 557 45F4?5= =4 E?GE < 6O?>?=<?< 2/3 7444=<O. �>=OF> 5>?55 
70% E>45D64=<O �4>E<<4?L=> 4>?GEF<<>5 >>?<G5EF6> E<OE?>6OE >L<5>> (<E>465=<5, >?GM5-
=<5, 4>546?5=<5 <=D>D<4F<<) ?D< >F65F5 =4 6>?D>EO > ?D>E?GL4==><G F5>EFG - 2. �4>E<<4?L=>5 
>>?<G5EF6> 7D4<<4F<G5E><E >L<5>> 3 2. 
«3» 
'G4M<5EO ?>=O?< F>?L>> >E=>6=>= E<OE? F5>EF4 =4 E?GE E =55>?LL<< <E>465=<5< 45F4?5= E>-
45D64=<O < 6O?>?=<?< 1/3 7444=<O. �>=OF> 5>?55 50% E>45D64=<O. �4>E<<4?L=> 4>?GEF<<>5 
>>?<G5EF6> E<OE?>6OE >L<5>> (<E>465=<5, >?GM5=<5, 4>546?5=<5 <=D>D<4F<<) ?D< >F65F5 =4 
6>?D>EO > ?D>E?GL4==><G F5>EFG 3 2. �4>E<<4?L=>5 >>?<G5EF6> 7D4<<4F<G5E><E >L<5>> 3 4. 
«2» 
'G4M<5EO =5 ?>=O?< E>45D64=<O F5>EF4 < 6O?>?=<?< 7444=<O ?> F5>EFG =5 ?D46<?L=>. �>=OF> 
<5=55 50% E>45D64=<O. �4>E<<4?L=> 4>?GEF<<>5 >>?<G5EF6> E<OE?>6OE >L<5>> ?D< >F65F5 =4 
6>?D>EO > ?D>E?GL4==><G F5>EFG 3 5>?55 3. �4>E<<4?L=>5 >>?<G5EF6> 7D4<<4F<G5E><E >L<5>> 
3 5. 
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3.1.2. &<?>6O5 7444=<O 4?O ?<EL<5==>7> >?D>E4 
�5D5654<F5 =4 4=7?<=E><= O7O> 

1. �D>EF<F5, O >?>744?(4)! 
2. �76<=<F5, <>7G O >>5-GF> E?D>E<FL G �4E? 
3. �76<=<F5, =5 <>7?< 5O 6O ?>6F>D<FL. 
4. �D>EF<F5, GF> 6O E>474?<? 
5. / 5>NEL, GF> =5 <>7G. 
6. �D>EF<F5, => O =5 <>7G. 
7. / 5O E G4>6>?LEF6<5<, => O =5 <>7G. 
8. �D>EF<F5, => O =5 E>7?4E5=(=4). 
9. �>NEL, GF> O =5 <>7G E>7?4E<FLEO E 64<<. 
10. / F4> =5 4G<4N. 
11.  / =5 G65D5=(4) =4EG5F MF>7>. 
12.  / 6<6G, GF> 6O <<55F5 6 6<4G, =>& 

 
1. 'F5=<5 < ?<EL<5==O= ?5D56>4 F5>EF4 

«Cultural differences» 
There are many cultures now and they are all different. Some of them are very archaic, others are con-
sidered to be rather new. Anyway, each culture is abundant. However, all cultures differ from each 
other. Some of them seem to be similar, others don9t correspond at all. Let9s take, for example, Italian 
and Russian cultures and compare them. On the one hand, they may seem a little bit close to each other 
as people in both countries tend to be open and careless sometimes. It is a result of the cultural effect 
and mentality. On the other hand, Italian culture pays much attention to food and to a sort of rite of eat-
ing. They have a lot of unspoken rules which are respected by native people. For instance, the Italians 
do great coffee and drink it a lot as well. However, they don9t drink all kinds of coffee during the day. 
Cappuccino, a famous type of coffee beverage, can be drunk only from 8:30 to 10:30. Moreover, in It-
aly people tend to eat at the same time. Almost everyone has lunch at 12-13 no matter where they are 
at that moment. In Russian culture, there are not such limits or strict rules that most people follow. 
There is hardly a food culture in Russia. People usually eat what they like and when they like. As for 
literature and art, Russia and Italy have a significant difference in this sense. The reason for this is that 
Russian and Italian cultures were generated in different historical circumstances. History has a pro-
found effect on culture and human mentality, that9s why art is always a reflection not only of the au-
thor9s identity but also of the history.  

  
�D<F5D<< >F5=<64=<O ?<EL<5==>7> >?D>E4 
«5»  EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 D5L5=4 < ?D< MF>< >5GG4NM<5EO ?>?-
=>EFLN ?>=O?< < >E<OE?<?< E>45D64=<5 ?D>G<F4==>7> <=>O7OG=>7> F5>EF4 6 >5NU<5, ?D54G-
E<>FD5==>< 7444=<5<. 
«4»  EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 D5L5=4 < ?D< MF><  >5GG4NM<5EO ?>?-
=>EFLN ?>=O?< < >E<OE?<?< E>45D64=<5 ?D>G<F4==>7> <=>O7OG=>7> F5>EF4 74 <E>?NG5=<5< 45-
F4?5= < G4EF=>EF5=, =5 6?<ONM<E =4  ?>=<<4=<5  MF>7>  F5>EF4,   6  >5NU<5,  ?D54GE<>FD5==><  
7444=<5<. 
«3» EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 D5L5=4 < ?D< MF>< >5GG4NM<5EO ?>=O-
?<, >E<OE?<?< 7?46=GN <45N ?D>G<F4==>7> <=>O7OG=>7> F5>EF4 6 >5NU<5, ?D54GE<>FD5==>< 74-
44=<5<, GF5=<5 >5GG4NM<EEO 6 >E=>6=>< E>>F65FEF6G5F ?D>7D4<<=O< FD55>64=<O<. 
«2» EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 =5 D5L5=4, >5GG4NM<5EO =5 ?>=O?< 
?D>G<F4==>7> <=>O7OG=>7> F5>EF4 6 >5NU<5, ?D54GE<>FD5==>< 7444=<5<, GF5=<5 >5GG4NM<EEO 
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E>>F65FEF6>64?> ?D>7D4<<=O< FD55>64=<O<. 
 

3.1.3. 'F5=<5 < ?5D56>4 F5>EF4. 
�444=<5 1. �D>GF<F5 < ?5D5654<F5 ?<EL<4 45?>6>7> E4D4>F5D4 
 

1. Dear Sirs,  
Our company Soft Plus is quite new in the region, it was established last year, but in spite of this we 
have already proved to be professionals and have a number of good reviews. We offer qualified services 
in software maintenance at reasonable prices. This month we have a special offer for and your office 
equipment with a good discount. For more information you may call 555-55-55.   
 With respect, Loius Mann, General Manager 
Mr Jonatan 
 Swift PR Manager  
FunOrg 4567  
Bowery Street 
 New York, NY   
  

2. Dear HR manager,  
Would you like to organize a day off for your employees within corporate culture? Our company may 
help you to increase the engagement of the staff by creating a simple family day-off! Competitions, con-
tests, quizzes 3 all sorts of stuff for good time-spending with families and colleagues!  Call us right now 
to reserve a date 3 678-702).   
 With respect, Mr Jonatan 
 Swift PR Manager 
Tom Garryson 
7834 Divinostreet 
 Chicago, Illinois    
  May 12, 2012   
  

3. Dear Sirs,  
I would like to apply for the job of courier in your company. I need part-time job and I am ready to work 
at the time convenient for you. I have a car for long distances and a bicycle for going round the city. I 
am very communicative and reliable. More information about me you may learn from my resume at-
tached here.    
With respect, Tom Garryson 

 
�D<F5D<< >F5=<64=<O GF5=<O < ?5D56>44 F5>EF4 

«5»  EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 D5L5=4 < ?D< MF>< >5GG4NM<5EO ?>?-
=>EFLN ?>=O?< < >E<OE?<?< E>45D64=<5 ?D>G<F4==>7> <=>O7OG=>7> F5>EF4 6 >5NU<5, ?D54G-
E<>FD5==>< 7444=<5<. 
«4»  EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 D5L5=4 < ?D< MF><  >5GG4NM<5EO ?>?-
=>EFLN ?>=O?< < >E<OE?<?< E>45D64=<5 ?D>G<F4==>7> <=>O7OG=>7> F5>EF4 74 <E>?NG5=<5< 45-
F4?5= < G4EF=>EF5=, =5 6?<ONM<E =4  ?>=<<4=<5  MF>7>  F5>EF4,   6  >5NU<5,  ?D54GE<>FD5==><  
7444=<5<. 
«3» EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 D5L5=4 < ?D< MF>< >5GG4NM<5EO ?>=O-
?<, >E<OE?<?< 7?46=GN <45N ?D>G<F4==>7> <=>O7OG=>7> F5>EF4 6 >5NU<5, ?D54GE<>FD5==>< 74-
44=<5<, GF5=<5 >5GG4NM<EEO 6 >E=>6=>< E>>F65FEF6G5F ?D>7D4<<=O< FD55>64=<O<. 
«2» EF46<FEO 6 F>< E?GG45, 5E?< >><<G=<>4F<6=4O 7444G4 =5 D5L5=4, >5GG4NM<5EO =5 ?>=O?< 
?D>G<F4==>7> <=>O7OG=>7> F5>EF4 6 >5NU<5, ?D54GE<>FD5==>< 7444=<5<, GF5=<5 >5GG4NM<EEO 
E>>F65FEF6>64?> ?D>7D4<<=O< FD55>64=<O<. 
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�D<F5D<< >F5=<64=<O ?5D56>44 >D<7<=4?L=>7> F5>EF4 (E <E?>?L7>64=<5< E?>64DO). 
 �D< ?<EL<5==>< GG55=>< ?5D56>45 F5>EF4 >F5=<645FEO 445>64F=>EFL ?5D56>44, F. 5. F>G=>EFL < 
?>?=>F4 ?5D544G< >4> >?NG56>=, F4> < 6F>D>EF5?5==>= <=D>D<4F<<. �5D56>4 >F5=<645FEO 6 100 
54??>6. �D< MF>< 74 ?D46<?L=O= ?5D56>4:  
1) ?5>E<G5E><E 54<=<F 445FEO >F 0 3 40 54??>6 (65D=O= 6O5>D M>6<64?5=F>6 E?>6; ?5D56545=O 6E5 
E?>64, >4> =5=FD4?L=>=, F4> < F5D<<=>?>7<G5E>>= ?5>E<><; ?5D544=O 6E5 D54?<< < <<5=4 E>5EF-
65==O5; ?D46<?L=> ?5D56545=O 6E5 E6>5>4=O5 < GE?>6=O5 E?>6>E>G5F4=<O); 
 2) 7D4<<4F<G5E><E 54<=<F < >>=EFDG>F<= 3 0 3 40 54??>6 (65D=O= ?5D56>4 6<4>-6D5<5==OE 
D>D< 7?47>?4, 74?>74 < =4>?>=5=<O 7?47>?4, <>44?L=OE 7?47>?>6, =5?<G=OE D>D< 7?47>?4 < >>=-
EFDG>F<= E =<<<; ?D46<?L=> ?5D544=> G<E?> < ?4456 EGM5EF6<F5?L=OE; GGF5=O ?D< ?5D56>45 
EF5?5=< ED46=5=<O ?D<?474F5?L=OE < =4D5G<=);  
3) E<=F4>E<G5E><E >>=EFDG>F<= 3 0 3 10 54??>6 (65D=> 6O5D4=> 7=4G5=<5 E?>6- 74<5EF<F5?5=; ?5-
D544=O M<D4F<G5E><5 >>=EFDG>F<<); 4) EF<?<EF<G5E>< ?D46<?L=O= (445>64F=O=) ?5D56>4 3 0 3 10 
54??>6. �4 F6>DG5E><5 =4E>4><, G44G=O5 >D<7<=4?L=O5 FD4=ED>D<4F<<, 4DG7<5 E?>E>5O GF>G=5-
=<O E<OE?4 F5>EF4 4>546?O5FEO >F 0 4> 10 54??>6.  
%>>F65FEF6<5 >>?<G5EF64 =45D4==OE 54??>6 >F5=>5: 
100 54??>6 3 85 54??>6 = >F?<G=>  
84 54??>6 3 75 54??>6 = E>D>L>  
74 54??4 3 50 54??>6 = G4>6?5F6>D<F5?L=>  
<5=55 50 54??>6 = =5G4>6?5F6>D<F5?L=> 
 

1.1.4. &<?>6O5 F5<O/EN65FO (4<4?>7<) 4?O D>?56>= <7DO 
�444=<5 1. �5D5654<F5 =4 4=7?<=E><= O7O> < 6>E?D><7654<F5 4<4?>7 ?> D>?O< 
�.: �4D46EF6G=F5. �=5 =47=4G5=> E>55E54>64=<5. 
 �.: �>5D>5 GFD>, �?5=4 �?5>E4=4D>6=4. �F4>, 6O ?>44?< 74O6?5=<5 > ?D<5<5 =4 D45>FG 6 

=4LG >><?4=<N. �5D=>?  
�.: �4, O ?>EO?4?4 D57N<5 =4 4>?6=>EFL <5=5465D4 ?> D5>?4<5.  
�.: %>D>L>. / 5O E>F5?4 G7=4FL > 64E =5<=>7> 5>?LL5. �5D47>64=<5, G>474==>5 6 D57N<5, 

=4E GEFD4<645F. � >?OF G 64E 5EFL?   
�.: $47G<55FEO. %=4G4?4 O D45>F4?4 <5=5465D>< 6 D5EF>D4=5. / ?D>65?4 F4< 1 7>44, < 74F5< 

?5D5L?4 6 D<D<G, 745 D45>F4N 6 44==O= <><5=F <5=5465D>< ?> D5>?4<5.   
�.: -F> <=F5D5E=>. � ?>G5<G 6O =54>6>?L=O E6>5= D45>F>=? �>G5<G 6O E>5<D45F5EL GE>-

4<FL?  
�.: �G, 74D??4F4 F4< =5??>E4O, 4>?6=4 ?D<7=4FLEO. �> D45>G<= 7D4D<> =5G4>55= 4?O <5=O. 

� G4EF> O D45>F4N F4< E65DEGD>G=>. �D><5 F>7>, G 64E >F?<G=4O D5?GF4F<O, < O =445NEL ?D<>5D5-
EF< 5>?LL5 6>7<>6=>EF5= < ?5DE?5>F<6G D>EF4 6 64L5= >><?4=<<.  

�: �>=OF=>. � GF> 6O <>65F5 D4EE>474FL <=5 > 64L<E ?>?>6<F5?L=OE >4G5EF64E? 
 �: / ?D<EFG?4N > D45>F5 6>6D5<O. / >5GG4NEL 4>6>?L=> 5OEFD>. / >><<G=<>455?L=4 

,>F?<G4NEL >D54F<6=>EFLN <45= < > F><G 65 =5??>E>= EG4>6=<>. 
�.:%>D>L>. �G<4N, 4>EF4F>G=>. 'F> 6, �?5=4 �?5>E4=4D>6=4. �>?LL>5 E?4E<5>. �O?> 

?D<OF=> ?>55E54>64FL E 64<<, < <O E>>5M<< 64< > D57G?LF4F4E E>55E54>64=<O G5D57 =5E>>?L>> 
4=5=. �> E6<44=<O. 
 �.:% =5F5D?5=<5< 5G4G 644FL 64L57> <765M5=<O, 5O?4 D444 >5M5=<N. �> E6<44=<O 
 

�444=<5 2. �5D5654<F5 =4 4=7?<=E><= O7O> < 6>E?D><7654<F5 4<4?>7 ?> D>?O< 
�<<FD<=: %?4E<5> 6E5< 74 F>, GF> E>5D4?<EL 745EL F4> 5OEFD>. �>64?G=EF4, =4?<64=F5 E5-

55 >>D5, < ?>E?5 MF>7> ?D<EFG?<< > ?>65EF>5 4=O, >>F>DGN 6O 6<4<F5 =4 4>E>5 ?5D54 64<<. �4> 
6O 6<4<F5, G =4E F>?L>> 464 ?G=>F4 4?O >5EG645=<O. 
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�?5>E5=: �4, �<<FD<=. / E>F5? 5O 4>546<FL >>5-GF> > 44==><G E?<E>G, 5E?< MF> 6>7<>6-
=>. 

�<<FD<=: � E>64?5=<N, �?5>E5=, O G?5F4N =4 6EFD5GG 6 4DG7>= 7>D>4 6 11.00 G4E>6 GFD4, < 
G <5=O >G5=L <4?> 6D5<5=<. �>65F ?< MF> ?>4>644FL, ?>>4 O =5 65D=GEL <7 ?>574><? 

�?5>E5=: �>=5G=> - 6O 65 5>EE! 
�<<FD<=: %>D>L>. �F4>, >4> 6O 7=45F5, 6 ?>E?54=55 6D5<O G =4E >G5=L <=>7> D4EE>4>6, < G 

<5=O =4 44==O= <><5=F 5EFL ?DO<>5 G>474=<5 =4L57> 4<D5>F>D4F4 D4EE<>FD5FL 6>?D>E > <4>E<-
<4?L=>< E>>D4M5=<< D4EE>4>6. �, O 5O E>F5?, GF>5O >464O= <7 64E, >4> DG>>6>4<F5?L 45?4DF4-
<5=F4, ?>47>F>6<? 5O <=5 >FG5F > 6>7<>6=OE 64D<4=F4E G<5=LL5=<O D4EE>4>6 6 D47D575 64L<E 
>F45?>6. �D>LG MF> E45?4FL > <>5<G 6>76D4M5=<N <7 ?>574><. / 7=4N, GF> M>>=><<FL 6 ?D<=F<-
?5-F> =5 =4 G5<, => ?D<>47 5EFL ?D<>47. 

%5<U=: 'F> >4E45FEO 4DG7>7> =4L57> 6>?D>E4, �<<FD<= ... 
�<<FD<=: �4, %5<U=. ' F55O 5EFL <45<? 
%5<U=: �4, 5EFL. / 67O? =4 E55O E<5?>EFL 74?<E4FL E6>< <45< > F><, >4> MF4 >>=>D5F=4O 

?D>5?5<4 <>65F 5OFL D5L5=4. / E45?4? >>?<N 4?O >464>7> <7 64E. �>F. 
�<<FD<=: �F?<G=>, %5<U=! -F> F>, GF> =4< =G6=> - 64L4 <=<F<4F<64! &5?5DL <=5 =G6=> 

E?5L<FL. / ?D>GFG MF> 6 E4<>?5F5, 4 >EF4?L=O5 <>7GF >5EG4<FL <45< %5<U=4 745EL ?DO<> E5=G4E. 
/ E>55DG 64E 6E5E =4 E>65M4=<5 >?OFL, >>744 65D=GEL. �> E6<44=<O! 

�E5: �>>4! 
 

�D<F5D<< >F5=>< D>?56>= <7DO 
«5» 
1. %>45D64=<5: >><<G=<>4F<6=4O 7444G4 D5L5=4 ?>?=>EFLN. 
2. �D74=<74F<O D45>FO: 6OE>47O64=<5 ?>7<G=>, <E?>?L7>64=O ED54EF64 ?>7<G5E>>= E6O7<, E>5?N-
45= D>D<4F 6OE>47O64=<O. 
3. �5>E<>4: ?5>E<>4 E>>F65FEF6G5F ?>EF46?5==>= 7444G5. 
4. �D4<<4F<>4: <E?>?L7>64=O D47=>>5D47=O5 7D4<<4F<G5E><5 >>=EFDG>F<< 6 E>>F65FEF6<< E ?>-
EF46?5==>= 7444G5=, 7D4<<4F<G5E><5 >L<5>< ?<5> >FEGFEF6GNF, ?<5> =5 ?D5?OFEF6GNF D5L5=<N 
>><<G=<>4F<6=>= 7444G<. 
«4» 
1. %>45D64=<5: >><<G=<>4F<6=4O 7444G4 D5L5=4 ?>?=>EFLN. 
2. �D74=<74F<O D45>FO: 6OE>47O64=<5 ?>7<G=>, <E?>?L7>64=O ED54EF64 ?>7<G5E>>= E6O7<, E>5?N-
45= D>D<4F 6OE>47O64=<O. 
3. �5>E<>4: ?5>E<>4 E>>F65FEF6G5F ?>EF46?5==>= 7444G5. �> <<5NFEO =57=4G<F5?L=O5 >L<5><. 
4. �D4<<4F<>4: <E?>?L7>64=O D47=>>5D47=O5 7D4<<4F<G5E><5 >>=EFDG>F<< 6 E>>F65FEF6<< E ?>-
EF46?5==>= 7444G5=, 7D4<<4F<G5E><5 >L<5>< =57=4G<F5?L=> ?D5?OFEF6GNF D5L5=<N >><<G=<>4-
F<6=>= 7444G<. 
«3» 
1. %>45D64=<5: �><<G=<>4F<6=4O 7444G4 D5L5=4. 
2. �D74=<74F<O D45>FO: 6OE>47O64=<5 =5?>7<G=>, =5445>64F=> <E?>?L7>64=O ED54EF64 ?>7<G5-
E>>= E6O7<, => D>D<4F 6OE>47O64=<O E>5?N45=. 
3. �5>E<>4: <5EF4<< =5445>64F=>5 G?>FD55?5=<5 ?5>E<><. 
4. �D4<<4F<>4: <<5NFEO 7DG5O5 7D4<<4F<G5E><5 >L<5><. 
«2» 
1. %>45D64=<5: �><<G=<>4F<6=4O 7444G4 =5 D5L5=4. 
2. �D74=<74F<O D45>FO: 6OE>47O64=<5 =5?>7<G=>, =5 <E?>?L7>64=O ED54EF64 ?>7<G5E>>= E6O7<, =5 
E>5?N45= D>D<4F 6OE>47O64=<O. 
3. �5>E<>4: 5>?LL>5 >>?<G5EF6> ?5>E<G5E><E >L<5>>. 
4. �D4<<4F<>4: 5>?LL>5 >>?<G5EF6> 7D4<<4F<G5E><E >L<5>>. 



 
 

3.2. &<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< 
3.2.1. &<?>6O5 ?D4>F<>>>D<5=F<D>64==O5 7444=<O 4?O M>74<5=4 

  1. Read the short story about McDonald9s. Guess the omitted words with the help of its first let-
ters. 

 
In 1937 the McDonald brothers, Dick and Mack, open a little drive-in r_________ in Pasadena, Cali-
fornia. They serve h__ ____ and milk shakes. In 1945 they have 20 waiters. All the teenagers in town 
eat h_________ there. In 1948 they get paper boxes and bags for the hamburgers. They put the p____ 
down from 30 cents to 15 cents. They cut the m___ down from 25 things to only 9. There are no more 
w______ - it is self-service. So it is cheaper and faster. And they have windows around the k______ - 
so everyone can see it is clean. Parents start bringing their c_______ to the restaurant. Poor families 
eat at a restaurant for the first time. In 1960s the McDonald9s company opens h_______ of McDo-
nald9s restaurants all over the States. In 1971 they open r__________ in Japan, Germany and Austral-
ia. 
Now& the McDonald9s company o____ a new restaurant every 8 h____! There are McDonald9s res-
taurants in over 70 c________. McDonald9s restaurants s____ almost exactly the same food in every 
country. But in Italy they serve beer, in Norway the McLack (salmon b_____) and in the Netherlands 
the Groenteburger (vegetarian)! 
 
1. �D>G<F4=F5 < ?5D5654<F5 F5>EF. 
Big Ben. Many people (even in England!) think that Big Ben is the clock or the whole tower next to 
the Houses of Parliament. In fact, it is the nickname of the largest bell at the top of the tower. It is ac-
tually called the Great Bell of Westminster and was made in 1858. 
Its sound is well known because it has often been used in films, and British television and radio com-
panies use it to introduce news broadcasts. It is also the sound that rings in each New Year in Britain. 
Nobody knows for sure why Big Ben is called Big Ben, but many people think it was something to do 
with Sir Benjamin Hall, a rather fat man who was in charge of the building works at Westminster and 
whose nickname was 8Big Ben9. 
 
2. %>EF46LF5 4<4?>7 ?> E<FG4F<<: 
Imaging you9re a big English family sitting around the table and having 8afternoon tea9. Use all the 
information your remember to create the atmosphere of a real English home. During your conversation 
don9t forget to discuss Big Ben 

3. �O?>?=<F5 ?5>E<>>-7D4<<4F<G5E><5 7444=<O 
�4?<L<F5 44==O5 ?D54?>65=<O, ?>EF46<6 7?47>? < EGM5EF6<F5?L=>5 6> <=>65EF65==>5 
G<E?>.  
This is my dog. This is my pen. This is a bag. This is a computer. This is a table. This is a knife and 
that is a spoon. This is a man and that is a boy. IV. �4?>?=<F5 ?D>?GE>< 4DF<>?O<< a, an <?< the, 745 
MF> =5>5E>4<<>, ?5D5654<F5 ?D54?>- 65=<O =4 DGEE><= O7O>. 1. Your address book is on & table. 
2. Purple is & nice colour. 3. America is & big country. 4. What colour is & telephone? 5. Where are 
& envelops? 6. This is & egg. 7. Where is & post office? 8. This is & way to school. 9. Tom is & 
good boy. 10. This is my & room. & room is large and clean. 11. I9m & doctor. I9m at & home now.  
�4?>?=<F5 ?D>?GE>< <5EF><<5=<O<<, =5>5E>4<<O<< ?> E<OE?G.  
1. A friend of _____ is a lawyer. a) mine; b) me; c) my 2. Ted is a schoolboy. _____ marks are good. 
a) he; b) his; c) him 3. There isn9t _____ water in the glasses. a) no; b) some; c) any 4. She9s got _____ 
classical music records. a) any; b) some; c) the 5. Chicago is famous for _____ high buildings. a) his; 
b) it9s; c) its  
 �4?<L<F5 ?>-4=7?<=E><:  
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3; 3rd; 21; 48; 83; 99; 100; 134; 304; 938; 13,267; 21,975; 10,849, 391; 11,834th; 50th; 137th, 1st.  
�4?<L<F5 EF5?5=< ED46=5=<O 44==OE ?D<?474F5?L=OE.  
sad, happy, far, honourable, bad, strong, famous, hot, large, high, old.  
 
4. �5D5654<F5 =4 4=7?<=E><= O7O>: 
� <N=5 1971 7>44 26-?5F=<= �4=>? $5=74= 65=<?EO =4 E6>5= 18-?5F=5= =565EF5 =4 ?D5>D4E=>= 
F5D5<>=<<, >>F>D4O E>EF>O?4EL =4 �464=OE, < =4 >>F>D>=, > E>64?5=<N, =5 E<>7 ?D<EGFEF6>64FL 
57> >F5F, 5G4GM<= ?D57<45=F %,�, $>=4?L4 $5=74=. �4=4>> 74 =5E>>?L>> 4=5= 4> F5D5<>=<< 
�4=>? ?>?GG<? =5GF> 55EF5==>5, =5GF>, GF> 5G45F ED4=<FLEO 4>?7<5 7>4O: E5D45G=>5, ?N5OM55 
< <G4D>5 ?<EL<> E >FF>6E><<< E>65F4<<, ?>E6OM5==>5 ?N56< < 5D4>G. «-F> 5O?> ?DO<> <7 ?4-
?<=>7> E5D4F4», - E>474? �4=>? 6 ?<EL<5 6 E6>5= >=<75 2004 7>44, «� E?>64E $>=4?L44 $5=74=4». 
«'5EF=>5, EF4D><>4=>5 < <G4D>5. / ??4>4?, >>744 G<F4? 57>, < O G<F4? 57> <=>7> D47 74 7>4O E 
F5E ?>D».  

�D<F5D<< < L>4?4 >F5=>< M>74<5=4 ?> 4<EF<??<=5 
 

�F5=>4 %4D4>F5D<EF<>< >F65F4 EFG45=F4 
�F?<G=> �5GG4NM<=EO ?>7<G=> EFD><F 4<4?>7<G5E>>5 < <>=>?>7<G5E>>5 6O-

E>47O64=<5 6 E>>F65FEF6<< E >><<G=<>4F<6=>= 7444G5=, ED>D<G?<D>-
64==>= 6 7444=<<. 
�5>E<G5E><5 54<=<FO < 7D4<<4F<G5E><5 EFDG>FGDO <E?>?L7GNFEO 
G<5EF=>. 
�L<5>< ?D4>F<G5E>< >FEGFEF6GNF. 
$5GL ?>=OF=4: ?D4>F<G5E>< 6E5 76G>< ?D><7=>EOFEO ?D46<?L=>, E>5?N-
445FEO ?D46<?L=4O <=F>=4F<O. 
�5NU< 6OE>47O64=<O =5 <5=55 10-12 DD47. 
�5GG4NM<=EO ?>?=>EFLN ?>=O? E>45D64=<5 F5>EF4 =4 E?GE < 6O?>?-
=<?< 6E5 7444=<O ?> F5>EFG. �>?=>5 ?>=<<4=<5 (90-100%) <=>O7OG=>-
7> 6OE>47O64=<O. �4>E<<4?L=> 4>?GEF<<>5 >>?<G5EF6> E<OE?>6OE 
>L<5>> (<E>465=<5, >?GM5=<5, 4>546?5=<5 <=D>D<4F<<) ?D< >F65F5 
=4 6>?D>EO > ?D>E?GL4==><G F5>EFG 3 1. �4>E<<4?L=>5 >>?<G5EF6> 
7D4<<4F<G5E><E >L<5>> 3 1. 

%>D>L> �5GG4NM<=EO ?>7<G=> EFD><F 4<4?>7<G5E>>5 < <>=>?>7<G5E>>5 6O-
E>47O64=<5 6 E>>F65FEF6<< E >><<G=<>4F<6=>= 7444G5=, ED>D<G?<D>-
64==>= 6 7444=<<. 
�5>E<G5E><5 54<=<FO < 7D4<<4F<G5E><5 EFDG>FGDO E>>F65FEF6GNF ?>-
EF46?5==>= >><<G=<>4F<6=>= 7444G5. 
�5GG4NM<=EO 4>?GE>45F >F45?L=O5 ?5>E<G5E><5 <?< 7D4<<4F<G5E><5 
>L<5><, >>F>DO5 =5 ?D5?OFEF6GNF ?>=<<4=<N 57> D5G<. 
$5GL ?>=OF=4, >5GG4NM<=EO =5 4>?GE>45F D>=5<4F<G5E><E >L<5>>. 
�5NU< 6OE>47O64=<O =5 <5=55 10 DD47. 
�5GG4NM<=EO ?>=O?< E>45D64=<< F5>EF4 557 45F4?5= =4 E?GE < 6O-
?>?=<? 2/3 7444=<O. �>=OF> 5>?55 70% E>45D64=<O �4>E<<4?L=> 4>-
?GEF<<>5 >>?<G5EF6> E<OE?>6OE >L<5>> (<E>465=<5, >?GM5=<5, 4>-
546?5=<5 <=D>D<4F<<) ?D< >F65F5 =4 6>?D>EO > ?D>E?GL4==><G F5>-
EFG - 2. �4>E<<4?L=>5 >>?<G5EF6> 7D4<<4F<G5E><E >L<5>> 3 2. 

'4>6?5F6>D<-
F5?L=> 

�5GG4NM<=EO ?>7<G=> EFD><F 4<4?>7<G5E>>5 < <>=>?>7<G5E>>5 6O-
E>47O64=<5 6 E>>F65FEF6<< E >><<G=<>4F<6=>= 7444G5=, ED>D<G?<D>-
64==>= 6 7444=<<. 
�>: 6OE>47O64=<5 =5 6E5744 ?>7<G=>, <<5NFEO ?>6F>DO. 
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�>?GE>4NFEO ?5>E<G5E><5 < 7D4<<4F<G5E><5 >L<5><, >>F>DO5 74FDG4-
=ONF ?>=<<4=<5. 
$5GL 6 F5?>< ?>=OF=4, >5GG4NM<=EO 6 >E=>6=>< E>5?N445F ?D46<?L-
=GN <=F>=4F<N. 
�5NU< 6OE>47O64=<O 3 <5=55 8 DD47. 
�5GG4NM<=EO ?>=O? F>?L>> >E=>6=>= E<OE? F5>EF4 =4 E?GE E =55>?L-
L<< <E>465=<5< 45F4?5= E>45D64=<O < 6O?>?=<? 1/3 7444=<O. �>=OF> 
5>?55 50% E>45D64=<O. �4>E<<4?L=> 4>?GEF<<>5 >>?<G5EF6> E<O-
E?>6OE >L<5>> (<E>465=<5, >?GM5=<5, 4>546?5=<5 <=D>D<4F<<) ?D< 
>F65F5 =4 6>?D>EO > ?D>E?GL4==><G F5>EFG 3 2. �4>E<<4?L=>5 >>?<-
G5EF6> 7D4<<4F<G5E><E >L<5>> 3 4. 

�5G4>6?5F6>D<-
F5?L=> 

�><<G=<>4F<6=4O 7444G4 =5 6O?>?=5=4. 
�<5NFEO <=>7>G<E?5==O5 ?5>E<G5E><5 < 7D4<<4F<G5E><5 >L<5><, >>-
F>DO5 74FDG4=ONF ?>=<<4=<5. 
�>?LL>5 >>?<G5EF6> D>=5<4F<G5E><E >L<5>>. 
�5GG4NM<=EO =5 ?>=O? E>45D64=<O F5>EF4 < 6O?>?=<? 7444=<O ?> 
F5>EFG =5 ?D46<?L=>. �>=OF> <5=55 50% E>45D64=<O. �4>E<<4?L=> 
4>?GEF<<>5 >>?<G5EF6> E<OE?>6OE >L<5>> ?D< >F65F5 =4 6>?D>EO > 
?D>E?GL4==><G F5>EFG 3 5>?55 3. �4>E<<4?L=>5 >>?<G5EF6> 7D4<<4-
F<G5E><E >L<5>> 3 5. 

 
8. ''����-��&���'�%��� � ��$�$��&������ ���%��'���� 

��%&�����/ 
 

8.1.  �E=>6=4O ?<F5D4FGD4: 
1. �5?>64O >>DD5E?>=45=F<O =4 4=7?<=E>>< O7O>5 [-?5>FD>==O= D5EGDE]: GG55=>5 ?>-

E>5<5 4?O 6G7>6/ 4 -?5>FD>=. F5>EF>6O5 44==O5.4 �<6=<= �>67>D>4: �<657>D>4E><= 7>EG-
44DEF65==O= 4DE<F5>FGD=>-EFD><F5?L=O= G=<65DE<F5F, -�% �%�, 2015.4 114 c.4 $56<< 4>E-
FG?4: http://www.iprbookshop.ru/54930.html. 4 -�% «IPRbooks» 
 

8.2. �>?>?=<F5?L=4O ?<F5D4FGD4: 
1. %GE4<=>64, �. $. &6>DG5E><5 <7DO 4?O 45?>6>7> >5M5=<O : GG55=>5 ?>E>5<5 / �. $. %G-

E4<=>64. 4 �474=L : �474=E><= =4F<>=4?L=O= <EE?54>64F5?LE><= F5E=>?>7<G5E><= G=<65DE<-
F5F, 2017. 4 80 c. 4 ISBN 978-5-7882-2083-3. 4 &5>EF : M?5>FD>==O= // -?5>FD>==>-
5<5?<>F5G=4O E<EF5<4 IPR BOOKS : [E4=F]. 4 URL: http://www.iprbookshop.ru/79536.html. 4 
$56<< 4>EFG?4: 4?O 46F>D<7<D. ?>?L7>64F5?5= 

2. English grammar [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5 ?> 7D4<<4F<>5 4=7?<=E>>7> 
O7O>4 4?O EFG45=F>6 =5O7O>>6OE E?5F<4?L=>EF5=/ ..�. �64=>64 [< 4D.].4 -?5>FD>=. F5>EF>6O5 
44==O5.4 %4D4F>6: �G7>6E>>5 >5D47>64=<5, 2015.4 213 c.4 $56<< 4>EFG?4: 
http://www.iprbookshop.ru/27158.html.4 -�% «IPRbooks» 
 

8.3. �D>7D4<<=>5 >55E?5G5=<5 
�<=>>V6.5. 3 �D>7D4<<=>5 >55E?5G5=<5 4?O ?<=74D>==>7> >45<=5F4  
Microsoft Windows 3 �?5D4F<>==4O E<EF5<4 
Microsoft Office 3 �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 (F5>EF>6O= D544>F>D, F45?<G=O= 

D544>F>D, D544>F>D ?D575=F4F<=, ?>GF>6O= >?<5=F) 
 
8.4.  �D>D5EE<>=4?L=O5 547O 44==OE 
1. http://www.english-guide.org 3 E?<E>> 55E??4F=OE E5D6<E>6 4?O <7GG5=<O 4=7?<=E>>7> 
O7O>4 
2. http://www.britishcouncil.org 3 >5D47>64F5?L=O= D5EGDE �D<F4=E>>7> %>65F4 
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3. http://iprbooks.ru 3 M?5>FD>==>-5<5?<>F5G=4O E<EF5<4  
 
8.5. �=D>D<4F<>==O5 E?D46>G=O5 E<EF5<O 
%?D46>G=>-?D46>64O E<EF5<4 «�>=EG?LF4=F�?NE» 3 http://www.consultant.ru/ 
�><E>>6O5 E<EF5<O 

�><E>>64O E<EF5<4 Google 3 https://www.google.ru/ 
�><E>>64O E<EF5<4 Yandex 3 https://www.yandex.ru 
�><E>>64O E<EF5<4 Rambler 3 http://www.rambler.ru 
 
8.6. �=F5D=5F-D5EGDEO 
�4<=4O >>??5>F<O F<DD>6OE >5D47>64F5?L=OE D5EGDE>6 - http://school-collection.edu.ru/ 
-?5>FD>==4O 5<5?<>F5>4 «�E5 GG55=<><» - http://www.vse-ychebniki.ru/ 
&<DD>6>= >5D47>64F5?L=O= D5EGDE IPRsmart» - http://www.iprbookshop.ru/ 
�4GG=4O M?5>FD>==4O 5<5?<>F5>4 - http://www.elibrary.ru/ 
�>DF4? >F>DOFOE 44==OE 3 https://data.gov.ru/ 
�4GG=4O M?5>FD>==4O 5<5?<>F5>4 «�<55D?5=<=>4» - http://cyberleninka.ru/ 
�4F<>=4?L=4O -?5>FD>==4O �<5?<>F5>4 (�-�)- https://rusneb.ru 
 
8.7. �5F>4<G5E><5 G>474=<O ?> >E6>5=<N 4<EF<??<=O 
�>?LL4O G4EFL E4<>EF>OF5?L=>= D45>FO EFG45=F4 E>EF><F 6 <7GG5=<< ?<F5D4FGDO. �4=4 

<7 7444G EFG45=F4 3 =4GG<FLEO E4<>EF>OF5?L=> D45>F4FL E >=<7>=, 4 MF> FD55G5F >?D545?5==OE 
74FD4F M=5D7<< < 6D5<5=<. �>MF><G =44> =4GG<FLEO 45?4FL MFG D45>FG D4F<>=4?L=>, F> 5EFL =5-
>5E>4<<> GG<FLEO G<F4FL. 

  
&D5=<D>6>4 ?4<OF<. 
� GG55=>= 45OF5?L=>EF< 646=> =5 F>?L>>, < =5 EF>?L>> 5OEFD> G<F4FL, => < GE64<64FL <4-

F5D<4?, E>ED4=OFL 6 ?4<OF<. �4<OFL ?D5>D4E=> FD5=<DG5<4 < G?D46?O5<4. �4=4>> ?D5645 G5< 55 
D476<64FL, ?>4G<4=F5, >4>4O <<5==> ?4<OFL 64< =G6=4: =4 <45<, =4 ?>7<>G <7?>65=<O <4F5D<4-
?4, =4 EE5<O < D>D<G?O. -F> D47=O5 6<4O ?4<OF< < D476<64FL <E =44> ?>-D47=><G. 

�45?N44O 74 E>5>=, 6OOE=<F5, >4> 64< ?57G5 74?><=<FL <=D>D<4F<N 3 5E?< 6O 55 6<4<F5, 
E?OL<F5 <?< 74?<EO645F5. � 44?L=5=L5< ?>EF4D4=F5EL F4> >D74=<7>64FL D45>FG, GF>5O <4>E<-
<4?L=> <E?>?L7>64FL 654GM<= F<? E6>5= ?4<OF<. 

�E?< G 64E E>D>L4O 7D<F5?L=4O ?4<OFL, F> E>D>L> 74?><<=4NFEO D<EG=><, D4E?>?>65-
=<5 <=D>D<4F<< =4 EFD4=<F5, F65F < F.4. ?><>7<F5 E555, 6O45?OO F65F=O<< >4D4=44L4<< >F-
45?L=O5 <5EF4 >>=E?5>F4, >56>4O D4<>4<<, 45?4O 7=4G><, ?><5F>< =4 ?>?OE, ?D54EF46?OO 7D<-
F5?L=> >F45?L=O5 4E?5>FO F5>EF4. 

�D< E>D>L5= E?GE>6>= ?4<OF< ?GGL5 74?><<=45FEO 76GG4M4O D5GL. �E?>?L7G=F5 MFG >E>-
55==>EFL, 6O45?OO <=F>=4F<5=, F5<5D>< 7>?>E4 >F45?L=O5 <5EF4 F5>EF4, E?GL4O 57> 6 74?<E< =4 
<47=<F>D>=5, D4EEG644O 6 E?GE < F.4. 

� E?GG45 ?4<OF< =4 46<65=<5 ?><>745F ?>6F>D=4O E>>D4M5==4O 74?<EL 74?><<=45<>7> 
<4F5D<4?4, =4?D<<5D 6O6>4>6, >E=>6=OE ?>?>65=<= F5>EF4, D<E>64=<5 F45?<F, 7D4D<>>6, EE5<, 
4 ?D< 6O?>?=5=<< ?45>D4F>D=OE D45>F ?GGL5 6E5 ?>FD>74FL < ?D>45?4FL E4<><G. 

�4DO4G E <E?>?L7>64=<5< 654GM57> F<?4 ?4<OF<, E?5F<4?L=> ?>745>FLF5EL < > D476<F<< 
>FEF4NM<E, F4> >4> ?D< <=>7<E 6<44E ?D>D5EE<>=4?L=>= 45OF5?L=>EF< >=< F4>65 <>7GF ?>FD5-
5>64FLEO. 

�E?>?L7>64=<5 ?D<5<>6 ?>7<G5E>>7>, >E<OE?5==>7> 74?><<=4=<O 6 =5E>>?L>> D47 ?>6O-
L45F ?D>4G>F<6=>EFL 45OF5?L=>EF<. �4?D<<5D, ?D< 74?><<=4=<< ?5>F<<, 7?46 GG55=<>>6 >E>-
55==> 45=EF65==O< O6?O5FEO >E=>6=O5 4E?5>FO E>45D64=<O, => < 74?><=<FL ?>7<>G 3 F5?5E>-
>5D47=GN E6O7L >F45?L=OE G4EF5= <4F5D<4?4. 

�>EF4D4=F5EL E ?5D6>7> >GDE4 D476<64FL ?4<OFL =4 F>, GF> =5?>ED54EF65==> >4E45FEO 64-
L5= 5G4GM5= ?D>D5EE<<. -F> < >E=>6=>= >DG7 <45= 44==>= >FD4E?< 7=4=<=, < <5F>4O, < =4<5>-
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?55 <=F5D5E=O5 D4>FO, < D4<<?<< 654GM<E E?5F<4?<EF>6 >5?4EF< < F.4. ?D< MF>< ?GGL5 =5 
644FL, GF> 74?><=<FEO E4<>, 4 E?5F<4?L=> EF4D4FLEO 74?><=<FL =G6=>5. 

�>>5M5 GEF4=>6>4 =4 74?><<=4=<5, >E>55==> 4?<F5?L=>5, ?>?>6<F5?L=> E>47O645FEO =4 
?D>G=>EF< < F>G=>EF< E>ED4=5=<O <4F5D<4?4 6 ?4<OF<. �D<>46<F5 E555 74?><=<FL =44>?7>, 4 =5 
F4> >4> =5D44<6O= EFG45=F, E?5L=> «=45<64NM<=» E555 7>?>6G <=D>D<4F<5= =5?>ED54EF65==> 
?5D54 M>74<5=>< E 54<=EF65==>= F5?LN 3 G45D64FL 6OGG5==>5 =4 >4<= 3 464 4=O. 

�N54O <=D>D<4F<O 74?><<=45FEO ?GGL5, 5E?< 6 =5= =4<5G5=O >4><5-F> E?>D=O5 <><5=FO 
3 >D<5=F<DO. � >4> ?> >4<GL>4< ?5D5E>4OF D5>G, F4> < ?> MF<< >D<5=F<D4< ?>F>< ?57G5 6>E-
?D><765EF< E>45D64=<5. �D< 74?><<=4=<< F5>EF4 6O45?O=F5 «E<OE?>6O5 >?>D=O5 ?G=>FO», >>-
F>DO5 ?57>> 74?><<=4NFEO, => E >>F>DO<< F5E=> E6O74=O F5?O5 DD47<5=FO <4F5D<4?4. -F> <>-
65F 5OFL >DO?4F4O DD474, OD>4O F<F4F4, ?D<<5D, <45O < F.4. 

�4F5D<4? 74?><<=45FEO =5?D><76>?L=>, F> 5EFL ?57>> < 557 74FD4FO E?5F<4?L=OE GE<?<=, 
5E?< >= O6?O5FEO F5?LN >4>>=-?<5> ?><E>>6>= 45OF5?L=>EF<. �4?D<<5D, 5E?< 6O 7444?<EL 6>-
?D>E>< < =4L?< >F65F =4 F>, GF> 4>?7> <E>4?<, <?< =4L?< ?>4F65D645=<5 7<?>F57O, >>F>DGN 
6O E4<< 6O46<=G?<, F> MF> 74?><<=45FEO E4<> E>5>=. �FEN44 6O6>4 3 >D74=<7G=F5 E6>N 45O-
F5?L=>EFL F4>, GF>5O ?D54<5F 74?><<=4?EO, O6?O?EO F5?LN MF>= 45OF5?L=>EF<. �4?D<<5D, <M<-
F5, 6O45?O=F5 6 F5>EF5 =4<5>?55 646=O5 57> ?>?>65=<O 3 < >=< 74?><=OFEO, 45?<F5 F5>EF =4 
G4EF<, 4=4?<7<DG=F5 E6O7< <564G =<<< 3 < 74?><=<FEO ?>7<>4 F5>EF4. 

�D< ?>6F>D5=<< >GDE4 ?5>F<=, 74?><<=4O <4F5D<4? ?> >F45?L=O< F5<4< <?< 4465 6>?D>-
E4<, =5 745O64=F5 ?>6F>D<FL E6O7L <564G =<<<. �<5==> F>744 6 7>?>65 G>?44O645FEO E<EF5<4 
7=4=<=, >>F>D4O 7>D474> MDD5>F<6=55, G5< D47D>7=5==O5 >5DO6><. 

� ?D>F5EE5 D476<F<O ?4<OF< EF4D4=F5EL =5 <E?>?L7>64FL EF<E<==> E?>6<6L<5EO <=5=<O, 
<5E4=<G5E>>5 747G5D<64=<5, 4 ?D<<5=O=F5 =4GG=> >5>E=>64==O5 <5F>4O E>7=4F5?L=>= < D4F<>-
=4?L=>= >D74=<74F<< D476<F<O ?4<OF< < ?><E> =>6OE ?D<5<>6. 

�D54?>EO?>>= E>D>L5= ?4<OF< O6?ONFEO >E>7=4=<5 G5?>65>>< E6>5= 45OF5?L=>EF< < D47-
7D4=<G5=<5 <=D>D<4F<< =4 FG, >>F>D4O D5L4NM<< >5D47>< ?><>745F E>>D5=L5<G 4>EF<65=<N 
E6><E F5?5=, < =4 <5=55 EGM5EF65==GN <=D>D<4F<N. �4G<=4=F5 ?N5>5 45?> E G5F>>= < OE=>= 
D>D<G?<D>6>< 57> F5?<; >?D545?<F5, >4>4O <=D>D<4F<O <>65F >>474FL D5L4NM55 6>745=EF6<5 
=4 55 4>EF<65=<5, < E>>=F5=FD<DG=F5EL =4 =5=. 

�D>G=><G 74?><<=4=<N E?>E>5EF6G5F <=>7><>45?L=>EFL 6>E?D<OF<O, F> 5EFL 74?><<=45-
<O= F5>EF G<F45FEO, ?D>7>64D<645FEO < ?D>E?GL<645FEO. �5745, 745 MF> 6>7<>6=>, ?>EF4D4=F5EL 
<E?>?L7>64FL FD< ?D<5<4 (E?GE, 7D5=<5 < GG6EF64) >5D45>F>< 74?><<=45<>= <=D>D<4F<< ED47G 
=5E>>?L>> >D74=>6 GG6EF6. 

�5 >G5=L >E<OE?5==GN 64<< <=D>D<4F<N, >>F>DGN, F5< =5 <5=55, =44> 74?><=<FL, <>6-
=> G45D64FL E ?><>MLN 4EE>F<4F<6=OE ?D<5<>6 <=5<>F5E=<><, EGFL >>F>DOE 6 F><, GF> =>6>5 
E6O7O645FEO E <765EF=O< =5 ?DO<>, 4 G5D57 F5?>G>G 4>?>?=<F5?L=OE ?D><56GF>G=OE 4EE>F<4-
F<< (?><=<F5 F65F4 E?5>FD4 3 «�464O= >E>F=<> 65?45F 7=4FL, 745 E<4<F D474=»). �5745, 745 
FDG4=> 74?><=<FL ?DO<>, =4=4<F5 4>?>?=<F5?L=O= E6O7GNM<= <>EF<>. &4><<< «E6O7GNM<<<» 
<>EF<>4<< O6?ONFEO 5G>64?L=O5 «G75?><» =4 ?4<OFL, 746O7O645<O5 <=>7<<< =4 =>E>6>< ??4F-
>5. � F5G5=<5 4=O G5?>65> =5<7556=> ?>?L7G5FEO =>E>6O< ??4F>><, 4 F4< 3 G75?>>, «=4?><<-
=4NM<=», GF> =G6=> =5 745OFL E45?4FL >?D545?5==>5 45?>. 

 
�5F>4<G5E><5 D5>><5=44F<< =44 ?D><7=>L5=<5< < F5E=<>>= GF5=<O 
1) >E6><FL ?D46<?L=>5 ?D><7=>L5=<5 G<F45<OE E?>6; 
2) >5D4F<FL 6=<<4=<5 =4 G44D5=<5; 
3) >5D4F<FL 6=<<4=<5 =4 ?D46<?L=GN <=F>=4F<N; 
4) >FD45>F4FL F5<? GF5=<O. 
 
�5F>4<G5E><5 G>474=<O ?> >D74=<74F<< D45>FO E ?5>E<G5E><< <4F5D<4?>< 
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1) �D< E>EF46?5=<< E?<E>4 E?>6 < E?>6>E>G5F4=<= ?> >4>>=-?<5> F5<5 (F5>EFG), ?D< 
>D>D<?5=<< ?5>E<G5E>>= ?<G=>= F5FD44<-E?>64DO =5>5E>4<<> 6O?<E4FL <7 4=7?>-DGEE>>7> E?>-
64DO ?5>E<G5E><5 54<=<FO 6 <E <EE>4=>= D>D<5 (<=D<=<F<65, 54<=EF65==>< G<E?5 < F.4.). &5-
?5E>>5D47=> G>47O64FL E?>E>5O G?>FD55?5=<O 44==>7> E?>64 6 D47?<G=OE D>D<4E (6D5<5=4 
4=7?<=E>>7> 7?47>?4, <=>65EF65==>5 G<E?> < F.4.). 

2) �4GG<64FL ?5>E<>G D5>><5=4G5FEO E ?><>MLN 46GEF>D>==57> ?5D56>44. 
3) �?O 74>D5??5=<O ?5>E<>< F5?5E>>5D47=> <E?>?L7>64FL ?D<<5DO G?>FD55?5=<O E?>6 < 

E?>6>E>G5F4=<= 6 ?D54?>65=<OE, 4 F4>65 E?>6>>5D47>64F5?L=O5 < E5<4=F<G5E><5 E6O7< 74GG<-
645<OE E?>6 (>4=>>>D5==O5 E?>64, E<=>=<<O, 4=F>=<<O). 

4) �?O D>D<<D>64=<O 4>F<6=>7> < ?4EE<6=>7> E?>64DO =5>5E>4<<> >E6>5=<5 =4<5>?55 
?D>4G>F<6=OE E?>6>>5D47>64F5?L=OE <>45?5= 4=7?<=E>>7> O7O>4.  (%<. �D<?>65=<5 2 3 �D>-
4G>F<6=O5 <>45?< E?>6>>5D47>64=<O 6 4=7?<=E>>< O7O>5) 

5. �E>5>5 6=<<4=<5 E?54G5F >5D4M4FL =4 <=F5D=4F<>=4?L=GN ?5>E<>G. �=4=<5 MF>= ?5>-
E<>< =5 F>?L>> E?>E>5EF6G5F D476<F<N O7O>>6>= 4>744><, G65?<G<645F E?>64D=O= 74?4E, => < 
D4EL<DO5F >DG7>7>D, ?>6OL45F >5MGN >G?LFGDG. �=F5D=4F<>=4?<7<O - E?>64, 74<<EF6>64==O5 
<7 4DG7<E O7O>>6, 6 >E=>6=>< ?4F<=E>>7> < 7D5G5E>>7>. -F< E?>64 ?>?GG<?< L<D>>>5 D4E?D>-
EFD4=5=<5 < EF4?< <=F5D=4F<>=4?L=O<<. �> >>D=N F4><E E?>6 ?57>> 4>7444FLEO >5 <E ?5D56>45 
=4 DGEE><= O7O>. 

�4=4>> =G6=> ?><=<FL, GF> <=>7<5 <=F5D=4F<>=4?<7<O D4EE>4OFEO 6 E6>5< 7=4G5=<< 6 
DGEE>>< < 4=7?<=E>>< O7O>4E, ?>MF><G <E G4EF> =47O64NF «?>6=O<< 4DG7LO<<» ?5D56>4G<>4.  

4. �D< ?5D56>45 E 4=7?<=E>>7> O7O>4 =4 DGEE><= =5>5E>4<<> ?><=<FL, GF> FDG4=>EF< 6O-
7O645F E?54GNM55: 

1. �=>7>7=4G=>EFL E?>6. �>4>5D4FL =G6=>5 7=4G5=<O E?>64 <>6=> F>?L>> <EE>4O <7 >>=-
F5>EF4. 

2. �<>=<<O (D47=O5 ?> 7=4G5=<N, => >4<=4>>6> 76GG4M<5 E?>64). �E E?54G5F >F?<G4FL >F 
<=>7>7=4G=OE E?>6. 

3. �>=65DE<O. �5D47>64=<5 =>6OE E?>6 <7 EGM5EF6GNM<E 557 <7<5=5=<O =4?<E4=<O E?>6 
=47O645FEO >>=65DE<5=.  

2. %?>6>>5D47>64=<5. -DD5>F<6=O< ED54EF6>< D4EL<D5=<O 74?4E4 E?>6 6 O7O>5 E?G6<F 
7=4=<5 E?>E>5>6 E?>6>>5D47>64=<O. '<5O D4EG?5=<FL ?D><76>4=>5 E?>6> =4 >>D5=L, EGDD<>E < 
?D5D<>E, ?57G5 >?D545?<FL 7=4G5=<5 =5<765EF=>7> E?>64. �D><5 F>7>, 7=4O 7=4G5=<O =4<5>?55 
G?>FD55<F5?L=OE ?D5D<>E>6 < EGDD<>E>6, 6O E<>65F5 557 FDG44 ?>=OFL 7=4G5=<5 7=5744 E?>6, 
>5D47>64==OE <7 >4=>7> >>D=56>7> E?>64, >>F>D>5 64< <765EF=>. 

3. �>?57=> 74?><<=4FL =5 >F45?L=O5 E?>64, 4 E?>6>E>G5F4=<O, 6OD465=<O <?< F5?O5 DD4-
7O. -F> ?>76>?<F �4< 5OEFD55 ?>45<D4FL =G6=O5 E?>64, EFD><FL ?D54?>65=<O, <E?>?L7>64FL <E 
6 =>6>< >>=F5>EF5. 

4. $4EL<D5=<N E?>64D=>7> 74?4E4 <>65F ?><>GL 74?><<=4=<5 =>6OE E?>6 ?> >4DF>G>4<, 
GF> ?>76>?<F GG<FL E?>64 6 E6>5>4=>5 6D5<O. �4 >4=>= EF>D>=5 >4DF>G>< ?<L5FEO E?>6> <?< 
E?>6>E>G5F4=<5 =4 <=>EFD4==>< O7O>5, =4 >5D4F=>= EF>D>=5 3 ?5D56>4. % >4DF>G>4<< E?54G5F 
D45>F4FL 4> F5E ?>D, ?>>4 �O =5 E<>65F5 5OEFD> 6>E?D><76>4<FL <7GG45<GN ?5>E<>G >4> E >4-
=>= EF>D>=O >4DF>G>< (<=>EFD4==O= 64D<4=F), F4> < E 4DG7>= (DGEE><= 64D<4=F). &5?5E>>5D47=> 
E>EF46<FL F5<4F<G5E>GN <?< ?>GD>G=GN >4DF>F5>G <7GG45<>= ?5>E<><. �D5<O >F 6D5<5=< 65?4-
F5?L=> ?D>65DOFL 7=4=<5 E?>6, 6OGG5==OE ?> >4DF>G>4<. 

 
�5F>4<G5E><5 G>474=<O ?> D45>F5 E ?5>E<G5E><< <4F5D<4?><: 
1) E>EF46?5=<5 F5<4F<G5E>>7> E?>64DO; 
2) E>EF46?5=<5 E?<E>4 =57=4>><OE E?>6 < E?>6>E>G5F4=<=  ?> F5>EF4<; 
3) 4=4?<7 >F45?L=OE E?>6 4?O ?GGL57> ?>=<<4=<O <E 7=4G5=<O; 
4) ?>45>D E<=>=<<>6 > 4>F<6=>= ?5>E<>5 GG55=OE F5>EF>6; 
5) ?>45>D 4=F>=<<>6 > 4>F<6=>= ?5>E<>5 F5>EF>6; 
6) E>EF46?5=<5 F45?<F / EE5< E?>6>>5D47>64F5?L=OE <>45?5= 
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�5F>4<G5E><5 G>474=<O ?> D45>F5 E ?5>E<G5E><< <4F5D<4?><: 
1) E>EF46?5=<5 F5<4F<G5E>>7> E?>64DO; 
2) E>EF46?5=<5 E?<E>4 =57=4>><OE E?>6 < E?>6>E>G5F4=<=  ?> F5>EF4<; 
3) 4=4?<7 >F45?L=OE E?>6 4?O ?GGL57> ?>=<<4=<O <E 7=4G5=<O; 
4) ?>45>D E<=>=<<>6 > 4>F<6=>= ?5>E<>5 GG55=OE F5>EF>6; 
5) ?>45>D 4=F>=<<>6 > 4>F<6=>= ?5>E<>5 GG55=OE F5>EF>6; 
6) E>EF46?5=<5 F45?<F / EE5< E?>6>>5D47>64F5?L=OE <>45?5=. 

 
�5F>4<G5E><5 D5>><5=44F<< ?> D45>F5 E 7D4<<4F<G5E><< <4F5D<4?><. 
1) �D4<<4F<G5E><5 O6?5=<O =5 4>?6=O <7GG4FLEO 6 >FDO65 >F ?5>E<G5E>>7> <4F5D<4?4. 
2) �D< <7GG5=<< >?D545?5==OE 7D4<<4F<G5E><E O6?5=<= 4=7?<=E>>7> O7O>4 
D5>><5=4G5FEO <E?>?L7>64FL EE5<O, F45?<FO <7 E?D46>G=<>>6 ?> 7D4<<4F<>5 < E>EF46?OFL 

E>5EF65==O5 > >>=>D5F=><G <4F5D<4?G. 
3) �D< D45>F5 E 7D4<<4F<G5E><< <4F5D<4?>< ?> >4>>=-?<5> F5<5, ?D< >D>D<?5=<< 7D4<-

<4F<G5E>>7> E?D46>G=<>4 EFG45=FG =5>5E>4<<> =4GG<FLEO D4E?>7=464FL 7D4<<4F<G5E>GN 
EFDG>FGDG ?> D>D<4?L=O< ?D<7=4>4<, E>>F=>E<FL D>D<G E> 7=4G5=<5<, 4<DD5D5=F<D>64FL 55 >F 
><>=<<<G=OE D>D<. 

4) �?O 74>D5??5=<O 7D4<<4F<G5E><E =46O>>6 F5?5E>>5D47=> <E?>?L7>64FL ?D<<5DO E >?>-
D>= =4 F5>EF. 

5) �?O D>D<<D>64=<O GEF>=G<6OE 7D4<<4F<G5E><E =46O>>6 =5>5E>4<<> 6O?>?=5=<5 DO44 
4<DD5D5=F<D>64==OE, ?>4EF4=>6>G=OE < FD4=ED>D<4F<>==OE G?D46=5=<= < ?>47>F>6<FL <E > 
>>=FD>?N 557 >?>DO =4 ?<EL<5==O= 64D<4=F. 

 
�5F>4<G5E><5 D5>><5=44F<< ?> D45>F5 E> E?>64D5< 
1) �D< ?><E>5 E?>64 6 E?>64D5 =5>5E>4<<> E?54<FL 74 F>G=O< E>6?445=<5< 7D4D<G5E>>7> 

>D>D<?5=<O <E>><>7> < =4=45==>7> E?>64. 
2) �=>7<5 E?>64 O6?ONFEO <=>7>7=4G=O<<, F.5. <<5NF =5E>>?L>> 7=4G5=<=, ?>MF><G ?D< 

?><E>5 7=4G5=<= E?>64 6 E?>64D5 =5>5E>4<<> >7=4>><<FLEO E> 6E5= E?>64D=>= EF4FL5= < 6O5<-
D4FL 4?O ?5D56>44 F> 7=4G5=<5, >>F>D>5 ?>4E>4<F 6 >>=F5>EF ?D54?>65=<O (F5>EF4) 

 
&<?O E?>64D5= 

- �=?4==-E?>64D< 
- �=7?>-DGEE><5 E?>64D< (FD44<F<>==O5) 
- $GEE>>-4=7?<=E><5 E?>64D< (FD44<F<>==O5) 
- �=7?>-DGEE><5 < DGEE>>-4=7?<=E><5 E?>64D<  
- -?5>FD>==O5 E?>64D< 
- %?5F<4?<7<D>64==O5 E?>64D< 

�E5 E>6D5<5==O5 E?>64D< <<5NF M?5>FD>==O5 64D<4=FO. �=< EGM5EF6GNF >4> 6 off-line 
65DE<OE =4 >><?4>F-4<E>4E, F4> < 6 D56<<5 on-line. On-line 65DE<<, >4> ?D46<?>, <5=55 ?>?=O5, 
6 =<E =5F =5>>F>DOE >?F<= (=4?D<<5D, D4EL<D5==>7> ?><E>4 < 4DG7<E). &5< =5 <5=55, >=< <>-
7GF 5OFL ?>4E?>DL5<, >E>55==> 5E?< 4>EFG? 6 E5FL 55E??4F=O=. �>F =5>>F>DO5 44D5E4: 

%4=F M?5>FD>==>7> E?>64DO LINGVO:  
httpHYPERLINK "http://www.lingvo.ru/lingvo/index.asp" 
%4=F M?5>FD>==>7> ?5D56>4G<>4 PROMT: 
 httpHYPERLINK "http://www.translate.ru/rus/http:/www.translate.ru/rus/" 
%?54G5F GG<FO64FL, GF> M?5>FD>==O= ?5D56>4 6E5744 FD55G5F 5>?55 <?< <5=55 7=4G<F5?L-

=>7> D544>F<D>64=<O. �=>744 D544>F<D>64=<5 74=<<45F 5>?LL5 6D5<5=<, G5< >5OG=O= ?5D56>4. 
-?5>FD>==O= ?5D56>4G<> G4>55=, 5E?< F5>EF >DG?=O= ?> >5N5<G, < =45<D4FL ?5D56>4 6DGG=GN 
E?<L>>< 4>?7>. 

 
�=>7>O7OG=O5 E?>64D<: 
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httpHYPERLINK "http://www.ets.ru/udict-r.htm" 
httpHYPERLINK "http://www.ets.ru/abbrdict-r.htm" 
httpHYPERLINK "http://www.yourdictionary.com/" 
httpHYPERLINK http://wordreference.com/ 
 
-?5>FD>==O5 5<5?<>F5><: 
%4<4O >DG?=4O 6 �=F5D=5F5 55E??4F=4O <=>7>O7OG=4O 5<5?<>F5>4 EG4>65EF65==>= ?<F5-

D4FGDO. %>45D6<F F5>EFO =4 4=7?<=E>><, =5<5F>><, DD4=FG7E>>< < <=>7<E 4DG7<E O7O>4E. �>-
?>?=O5FEO 5654=56=>: 

 httpHYPERLINK "http://wordreference.com/" 
 

$45>F4 E <=F5D=5F <EF>G=<>4<< 6>?NG45F ?D>E?GL<64=<5 4GF5=F<G=OE F5>EF>6 
(?>4>4EF>6), E >?>D>= =4 F5>EF <?< 557 =5U. $5>><5=4>64==O5 EEO?><:  

http://www.britishcouncil.org/learnenglish-podcast-professionals-change-management.htm 
 http://www.podcastsinenglish.com/pages/levelbusiness.shtml 
 http://elf-english.com/2010/11/podcasts-to-learn-english/ 
http://www.converge.com/podcast-quality-management.htm 
 
�5F>4<G5E><5 D5>><5=44F<< ?> D45>F5 =44 4G4<D>64=<5<. 
1)�> 6D5<O 6O?>?=5=<O G?D46=5=<= ?> 4G4<D>64=<N =5>5E>4<<> >?<D4FLEO =4 7=4>><O5 

E?>64, DD47O, D5G56O5 >5>D>FO, 7D4<<4F<G5E><5 EFDG>FGDO; 
2) 6OO6?5=<5 7=4G5=<= =>6OE E?>6 6>7<>6=> <7 >>=F5>EF4; 
3) %?54G5F >5D4M4FL 6=<<4=<5 =4 ?D><7=>L5=<5 =>6OE E?>6 ?D< 4G4<D>64=<<; 
4) �D< D45>F5 E 4GF5=F<G=O<< <4F5D<4?4<< E?54G5F >5D4M4FL 6=<<4=<5 =4 E>F<>>G?L-

FGD=O= >><?>=5=F E>>5M5=<O; 
5) �<4?>7<G5E><5 6OE>47O64=<O, ?D54?>65==O5 4?O 4G4<D>64=<O =5>5E>4<<> ?D>G<FO-

64FL 6E?GE 4?O >FD45>F>< <=F>=4F<< < ?D><7=>L5=<O. 
 
�5F>4<G5E><5 D5>><5=44F<< ?> D45>F5 E F5>EF><: 
 �D< D45>F5 E F5>EF>< =4 4=7?<=E>>< O7O>5 D5>><5=4G5FEO DG>>6>4EF6>64FLEO E?54GNM<<< 

>5M<<< ?>?>65=<O<<: 
5. $45>FG E F5>EF>< E?54G5F =4G4FL E GF5=<O 6E57> F5>EF4: ?D>G<F4=F5 F5>EF, >5D4F<F5 

6=<<4=<5 =4 57> 747>?>6>>, ?>EF4D4=F5EL ?>=OFL, > G5< E>>5M45F F5>EF. 
2. �4F5< ?D<EFG?<F5 > D45>F5 =4 GD>6=5 >F45?L=OE ?D54?>65=<=. 
�D>G<F4=F5 ?D54?>65=<5, >?D545?<F5 57> 7D4=<FO. �D>4=4?<7<DG=F5 ?D54?>65=<5 

E<=F4>E<G5E><: >?D545?<F5, ?D>EF>5 MF> ?D54?>65=<5 <?< E?>6=>5 (E?>6=>E>G<=5==>5 <?< 
E?>6=>?>4G<=5==>5), 5EFL ?< 6 ?D54?>65=<< GE?>6=5==O5 E<=F4>E<G5E><5 >>=EFDG>F<< 
(<=D<=<F<6=O5 7DG??O, <=D<=<F<6=O5 >5>D>FO, ?D<G4EF=O5 >5>D>FO). 

3. �D>EF>5 ?D54?>65=<5 E?54G5F D47>5D4FL ?> G?5=4< ?D54?>65=<O (6O45?<FL 
?>4?564M55, E>47G5<>5, 6F>D>EF5?5==O5 G?5=O), 74F5< ?5D565EF< =4 DGEE><= O7O>. 

4. %?>6=>E>G<=5==>5 ?D54?>65=<5 D4755=F5 =4 ?D>EFO5 ?D54?>65=<O, 6E>4OM<5 6 57> 
E>EF46, < 4=4?<7<DG=F5 >464>5 ?D54?>65=<5. 
 

�5?>6O5 ?<EL<4 ?<LGFEO ?> GEF4=>6?5==>= D>D<5, G4EF> =4 5?4=>4E. %>EF46?5=<5 ?N5>7> 
45?>6>7> ?<EL<4 =4 4=7?<=E>>< O7O>5 ?>4G<=O5FEO >5M<< ?D46<?4<:   

1. 6 ?D46>< 65DE=5< G7?G >5OG=> EF46<FEO LF4<? >><?4=<< E 55 44D5E>< (1-O EFD>>4 
3 =4764=<5 D<D<O, 2-O EFD>>4 3 44D5E D<D<O: =><5D 4><4, =4764=<5 G?<FO, 7>D>4, ?>GF>6O= <=-
45>E, EFD4=4) <?< 64L 44D5E, 5E?< 6O ?<L5F5 =4 <<O >><?4=<<;  

2. ?>4 LF4<?>< 44F4 ?<EL<4;  
3. 6 ?56>= G4EF< =4<<5=>64=<5 < 44D5E ?>?GG4F5?O ?<EL<4;  
4. F5<4 ?<EL<4 (4?O F>7>, GF>5O ED47G EF4?> ?>=OF=>, > G5< 44==>5 ?<EL<> < >><G < 

6 >4>>= >F45? 57> =G6=> ?5D5E?4FL);  
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5. 6EFG?<F5?L=>5 >5D4M5=<5;  
6. >E=>6=>= F5>EF ?<EL<4;  
7. 74>?NG<F5?L=4O D>D<G?4 656?<6>EF<;  
8. ?>4?<EL;  
9. G>474=<5 =4 ?D<?>65=<5.  
�EFG?<F5?L=>5 >5D4M5=<5 ?<L5FEO E?54GNM<< >5D47><:  
1. 5E?< 6O =5 7=45F5 D4<<?<N G5?>65>4 <?< ?N45=, > >>F>DO< 6O >5D4M45F5EL, 

?<EL<> >5OG=> =4G<=45FEO E> E?>6 Dear Sir, Dear Sirs <?< Gentlemen.  
2. �E?< 6O ?<L<F5 65=M<=5 < =5 7=45F5 55 D4<<?<N, >5OG=O< O6?O5FEO >5D4M5=<5 

Dear Madam.  
3. �E?< 6O 7=45F5 D4<<?<N 44D5E4F4, >5OG=O< >5D4M5=<5< > <G6G<=5 O6?O5FEO  
Dear Mr. Smith, > 65=M<=5 Dear Miss Smith (=574<G6=5= 65=M<=5), Dear Mrs. Smith (74-

<G6=5= 65=M<=5), Dear Ms. Smith (5E?< 6O =5 7=45F5, 74<G65< >=4 <?< =5F. -F4 D>D<4 ?D<>5D5-
F45F 6E5 5>?55 L<D>>>5 D4E?D>EFD4=5=<5). � 45?>6>< ?<EL<5 6 >5D4M5=<< ���,�/ ?<E4FL ��/ 
?>E?5 E?>6 Mr., Mrs, Ms.  

�4>?NG<F5?L=4O G4EFL ?<EL<4 3 ?>4?<EL 3 746<E<F >F >5D4M5=<O. �E?< 6O =4G4?< ?<EL<> 
E >5D4M5=<O Dear Sir, Dear Sirs Dear Madam <?< Gentlemen, 6 >>=F5 ?<EL<4 ?5D54 ?>4?<ELN 6O 
4>?6=O ?>EF46<FL E?>64 Yours faithfully.  

�E?< 6O =4G4?< ?<EL<> E >5D4M5=<O Dear Mr. Smith, Dear Miss Smith, Dear Mrs. Smith, 
Dear Ms. Smith >5OG=O< >>>=G4=<5< 5G4GF E?>64 Yours sincerely.  

/7O> =4?<E4=<O 45?>6>7> ?<EL<4 >F?<G45FEO >F EF<?O ?<G=>7> ?<EL<4. � 45?>6OE ?<EL<4E 
O7O> 5>?55 >D<F<4?5= < EFD>7; =5 ?D<=OF> G?>FD55?5=<5 E>>D4M5==OE 7?47>?L=OE D>D<, 6 F> 
6D5<O >4> >>=EFDG>F<< E> EFD444F5?L=O< 74?>7>< <E?>?L7GNFEO 7>D474> G4M5 4?O 45?>6>= ?5D5-
?<E>< E4D4>F5D=> G?>FD55?5=<5 EF4=44DF=OE 6OD465=<=, <E?>?L7G5<OE 4?O ?>4F65D645=<O 
?>?GG5=<O 45?>6OE ?<E5<, 4?O 6OD465=<O ?D>EL5O, ?D< E>>5M5=<< > ?>EO?>5 >4F4?>7>6 <?< 
4>>G<5=F>6, ?D< EEO?>5 =4 4>>G<5=FO < F.4. MF< EF4=44DF=O5 6OD465=<O =5>5E>4<<> 6OGG<FL.  

�E=>6=>= F5>EF ?<EL<4 1. �<EL<>-74?D>E, 64?>54 < F.?.  
� =4G4?5 45?>6>7> ?<EL<4 G>47O645FEO ?D<G<=4 =4?<E4=<O 44==>7> ?<EL<4.  
�5OG=O< =4G4?>< <>7GF E?G6<FL 6OD465=<O I am writing in connection with& I am writing 

to enquire about& �E?< 6O ?<L5F5 >G5D54=>5 ?<EL<> ?> >4=><G < F><G 65 6>?D>EG, F> =4G4?>< 
<>7GF O6?OFLEO 6OD465=<O Further to&  

With reference to&  
2. �<EL<>->F65F  
�5OG=O< =4G4?>< O6?O5FEO  
Thank you for your letter of 12 January (�5D4F<F5 6=<<4=<5 =4 ?D54?>7 of), In reply/ answer/ 

response to your letter of 12 January&  
� E>>5M5=<OE >5 <E?>?=5=<< ?D>EL5O G?>FD55?ONFEO E?54GNM<5 6OD465=<O:  
In accordance with your request&, According to your request&, As requested (by you/ in your 

letter).  
�D< <765M5=<< > ?>EO?>5 4>>G<5=F>6, >4F4?>7>6 < F.?. >5OG=> <E?>?L7GNFEO E?54GNM<5 

6OD465=<O: We are pleased/ glad to send you&, We enclose&, We send enclosed&  
�5?>6>5 ?<EL<> >5OG=> 45?<FEO =4 4574FO. �5?5=<5 ?>4G5D><645FEO E?>64<<:  
First of all, Firstly, Secondly, Finally  
�5 745O64=F5 > E?>64E, E6O7O64NM<E >F45?L=O5 G4EF< ?D54?>65=<=, < 66>4=OE E?>64E:  
Moreover, In addition to it  
So, As a result, Therefore  
However, On the one hand& On the other hand, In contrast  
In conclusion, To sum up, On the whole  
�5 745O64=F5 > 656?<6OE E?>64E < 6OD465=<OE:  
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I would be very pleased&  
Will you be so kind to inform me&  
I will be obliged if you could & I would appreciate if you could&  
�4>?NG<F5?L=4O D>D<G?4 656?<6>EF< 6>?NG45F 6 E55O F4><5 6OD465=<O, >4>:  
I look forward to hearing from you soon. If you require any further information please do not he-

sitate to contact us. 
 
 $���&� ��� '%&��� $�',. 
$>D<O D45>FO =44 GEF=>= D5GLN: 

- D>=5F<G5E><5 G?D46=5=<O ?> >?D545?5==>= F5<5; 
- ?5>E<G5E><5 G?D46=5=<O ?> >?D545?5==>= F5<5; 
- 7D4<<4F<G5E><5 G?D46=5=<O ?> >?D545?5==>= F5<5; 
- D>=5F<G5E>>5 GF5=<5 F5>EF4->5D47F4; 
- ?5D56>4 F5>EF4 >5D47F4; 
- D5G56O5 G?D46=5=<O ?> F5<5; 
 - ?>47>F>6>4 GEF=>7> 4<4?>7<G5E>>7> 6OE>47O64=<O; 
 - ?>47>F>6>4 GEF=>7> <>=>?>7<G5E>>7> 6OE>47O64=<O ?> >?D545?5==>= F5<5. 

 
�5F>4<G5E><5 G>474=<O ?> E4<>EF>OF5?L=>= D45>F5 =44 GEF=>= D5GLN (4<4?>7<G5E>4O 

< <>=>?>7<G5E>4O D5GL): 
$45>FG ?> ?>47>F>6>5 GEF=>7> 6OE>47O64=<O ?> >?D545?5==>= F5<5 E?54G5F =4G4FL E <7GG5-

=<O F5<4F<G5E><E F5>EF>6->5D47F>6. 
� ?5D6GN >G5D54L =5>5E>4<<> 6O?>?=<FL D>=5F<G5E><5, ?5>E<G5E><5 < ?5>E<>>-

7D4<<4F<G5E><5 G?D46=5=<O ?> F5<5, GE6><FL =5>5E>4<<O= ?5>E<G5E><= <4F5D<4?, ?D>G<F4FL < 
?5D565EF< F5>EFO->5D47FO, 6O?>?=<FL D5G56O5 G?D46=5=<O ?> F5<5. 

�4F5< =4 >E=>65 <7GG5==OE F5>EF>6 =G6=> ?>47>F>6<FL E6O7=>5 <7?>65=<5 ?D>G<F4==>7>, 
6>?NG4NM55 =4<5>?55 646=GN < <=F5D5E=GN <=D>D<4F<N. 

�>47>F>6?5==>5 GEF=>5 4<4?>7<G5E>>5/<>=>?>7<G5E>>5 6OE>47O64=<5 4>?6=> >5?444FL ?>-
7<G5E>>= ?>E?54>64F5?L=>EFLN >E65M5=<O F5<O.  

�5F>4<G5E><5 D5>><5=44F<< ?> ?>47>F>6>5 < ?D>6545=<N ?G5?<G=>7> 6OEFG??5=<O   
�D< ?>47>F>6>5 > ?G5?<G=><G 6OEFG??5=<N =5>5E>4<<> ?><=<FL >5 <E?>?L7>64=<< E?5-

4GNM<E DD47 < 6OD465=<=: �?O >5>7=4G5=<O F5<O 6OEFG??5=<O:  
4 The subject of my speech is&..  
4 I9m going to deal with (to deal 4 <<5FL 45?>, EGM5EF6<F5?L=>5 «deal» 6 5<7=5E- >DG74E 

>E>55==> 646=>5 E?>6>, >=> >7=4G45F «E45?>4»; MF> E?>6> 6 >>=F5 ?5D57>6>D>6 >7=4G45F E>7?4E<5 
E GE?>6<O<< E45?><, F.5. 3 4>EF<65=<5 4>7>6>D5==>EF<).  

% G57> <O E>5<D45<EO =4G4FL:  
4 I would like to begin with &  
4 The key thing (>?NG56>= <><5=F, >E=>6=>5) I9d like to start with is& '7?G5?O5<EO 6 ?D>-

5?5<G:  
4 In order to go more thoroughly into this problem &  
�46=> >5D4F<FL 6=<<4=<5 =4 >4><5-F> <><5=FO, ?>4G5D>=GFL GF>-?<5>:  
4 It is essential&.  
4 It is necessary to determine here&.  
4 It should be stressed here&..  
4 In this sense I would like to emphasize& �> E 4DG7>= EF>D>=O&., E F>G>< 7D5=<O&:  
4 On the other hand& 4 From the viewpoint of& �D<6>4<< 4>6>4O:  
4 Previous investigations show &  4 �D54O4GM<5 <EE?54>64=<O ?>>474?< &;  
4 Here is an illustrative explanation of & 4 �>F =47?O4=>5 >5NOE=5=<5& �D<7=45<, GF> MF> 



28 
 

<>65F 6O764FL ?>?5<<>G:  
4 Perhaps it will be polemic to&  
%EO?45<EO =4 F>, GF> 5O?> E>474=> D4=55:  
4 As mentioned above & � 4>?>?=5=<5 > &: 4 In addition to&  
%>F<< ?>4=OFL 6>?D>EO, >F=>EOM<5EO >&: 4 I would like to raise some questions related 

to& �D<E>4<< > 74>?NG5=<N&:  
4 Thus, we come to the following conclusion! �5 745O645< 5?47>44D<FL 74 6=<<4=<5:  
4 Thank you for attention! 
 
9. ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/  

�?O ?D>6545=<O 74=OF<= E5<<=4DE>>7> F<?4 <E?>?L7GNFEO 4G4<F>D<<, >5>DG4>64==O5 
GG55=>= <555?LN, <G?LF<<54<==O<< ED54EF64<< >5GG5=<O: M>D4=><, ?D>5>F>D><, =>GF5G>>< 
(?D< >FEGFEF6<< M>D4=4, =>GF5G>4 < ?D>5>F>D4 3 GG55=4O 4>E>4). 

�?O ?D>6545=<O ?D><56GF>G=>= 4FF5EF4F<< ?> 4<EF<??<=5 <E?>?L7GNFEO 4G4<F>D<O, >E-
=4M5==4O GG55=>= <555?LN, M>D4=><, =>GF5G>>< < ?D>5>F>D (?D< >FEGFEF6<< M>D4=4, =>GF5G>4 
< ?D>5>F>D4 3 GG55=4O 4>E>4). 

�?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO <E?>?L7G5FEO 4G4<F>D<O, >E=4M5==4O >><-
?LNF5D=>= F5E=<>>= E 6>7<>6=>EFLN ?>4>?NG5=<O > E5F< �=F5D=5F < >55E?5G5=<5< 4>EFG?4 6 
M?5>FD>==GN <=D>D<4F<>==>->5D47>64F5?L=GN ED54G >D74=<74F<<. 

�E?>?L7>64=<5 <=F5D=5F-D5EGDE>6 ?D54?>?4745F ?D>6545=<5 74=OF<= 6 >><?LNF5D=OE 
>?4EE4E E 6OE>4>< 6 �=F5D=5F. � >><?LNF5D=OE >?4EE4E >5GG4NM<5EO <<5NF 4>EFG? > <=D>D-
<4F<>==O< D5EGDE4<, > 5475 44==OE 5<5?<>F5>< (M?5>FD>==>-5<5?<>F5G=4O E<EF5<4 
http://www.iprbookshop.ru). 
 

10. �%������%&� �%�����/ ��%&�����/ ��&��� % 
��$���'���/�� ��������%&/�� ���$��,/ 

�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO E?5F<4?L-
=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 F5E=<G5E><5 ED54EF-
64 >5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 4EE<EF5=F4 (FLNF>D4), >>4-
7O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 F4>65 GE?G7< EGD4>?5D56>4G<-
>>6 < F<D?>EGD4>?5D56>4G<>>6. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO <>65F 
5OFL >D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 >F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >EG-
M5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>-
EF5= < E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O 6OEL57> >5D47>64=<O ?> >5D47>64F5?L=>= ?D>7D4<<5 
?<F4<< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< >E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 

GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<-
F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO G65-
?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 >DG?-
=O= LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO G65?<G<64NM55 

GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
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3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 
GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<-
F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, 
?D< =5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 <=4<6<4G-
4?L=>7> ?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-

46<74F5?L=>7> 4??4D4F4: 
3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< ?D>7D4<<-

=O< >55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 
3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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